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(1 mark for each question)

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from
1-96 are printed in order in the Question Booklet and ensure that the OMR Answer-Sheet
belongs to him/her only. In case of any discrepancy, immediately inform the Invigilator
to replace your Question Booklet.

IMPORTANT INSTRUCTIONS

Do not open the Question Booklet before 1:30 p.m. in the Examination Hall.

Read the questions carefully before marking the right answer with blue/black
ballpoint pen only in the appropriate circle of the OMR Answer-Sheet, as firstly there
is provision of negative marking of 0-25 mark per Question for wrong answer as well as
for selecting more than one option of a question, and secondly no extra OMR
Answer-Sheet will be provided for any mistake or correction.

In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write
his/her Roll No., Question Booklet Serial No., Question Booklet Code in the space
provided in the OMR Answer-Sheet by shading and by writing in alphabet and
numerical on the front page as well as on the back page. Otherwise the OMR
Answer-Sheet will not be evaluated.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their OMR Answer-Sheet to the Invigilator after the completion of the
Examination. Cases where a candidate has not signed while submitting the OMR
Answer-Sheet, he/she shall be treated as absent.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet.

The candidate should make sure that the Question Booklet No. and corresponding
Question Booklet Code is properly written/shaded in the OMR Answer-Sheet by
him/her. For example, in filling up the Question Booklet Code, if the candidate gets
Question Booklet Code ‘A’, then he/she should fill up ‘A’ in the box provided in the
OMR Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-Sheet.
Candidate should do all the necessary rough work on the Question Booklet in the space
provided. Rough work should not be done on the OMR Answer-Sheet or on any other paper.
If any rough work or overwriting is done or whitener is used on the OMR Answer-Sheet, the
OMR Answer-Sheet will not be assessed.

In case of any discrepancy or confusion in the medium/version of the questions, the
English version will be treated as the authentic version.
No candidate will be allowed to leave the Examination Centre during the examination hours.
Any candidate found using unfair means including carrying restricted items like mobile
phone, calculator or any electronic gadget or objectionable materials, etc., which are not
allowed in the examination halls/rooms shall be disqualified.
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1. Which of the following countries does Brazil not share international boundary

with?
(A) Chile (B) Argentina
(C) Paraguay (D) Peru

1. RIS @@ ([ G1ee Alfece Sseifed S =7 76 2
(A) Tofer (B) SICEHBl
(C) N8 (D) =

1. oA @ oD AT Bt AETe = 2
(A) Bfar (B) SIC Bl
(C) “NIISE (D) ¢F

1. TERM 5« et sl ggeii fmn e ?
A) Tafa (B) eATSifeT
(C) wRAg (D) ue

1. ssfter FrefaRaa o @ form 9w o o1y 1ot STaRisr i aren & s 27
A) factt (B) 3TSiEMT
(C) T (D) &

2. Who is considered as ‘the father of zero’ ?

(A) Chitragupta (B) Brahmadutta
(C) Varahamihira (D) Aryabhatta
2. (TR TGP 9 G el Keqvel Pl = 2
(A) Pazy (B) F=e
(C) Tr=fifzq (D) =G
2. [T G FICF T2 2
() Pasy (B) Tmwe
(C) <=r=ffzs (D) wIRfeh
2. @ e 9 faer g Srn?
(A) e (B) @
(C) wwEfufe (D) *fRiwg
2. Y H SHE TRY WD ST 27
(A) foere (B) srew
(C) =fufe (D) wmEwg
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3. Between which two major water bodies does the Suez Canal lie?
(A) Mediterranean Sea and Atlantic Ocean
(B) Atlantic Ocean and Pacific Ocean
(C) Mediterranean Sea and Red Sea

(D) Arabian Sea and Bay of Bengal

3. LGS U (T 51 24 STl W[ere S[E B ?

(A) PRLPTISN S GBS T=PTI9IE (B) SIGSIGS TZPISR S 218 219
(C) RLPTR S (MfRSToN (D) SRR S ICHPTIE

3. AR 41 (I G0 2L S W ST 2
(A) TRLPTR G2 GBS =T (B) =GB N2PTIR R 218 2RISR
(C) TIP3 (MRS (D) SRR @I ICH7PTE

3. GUS SWHAT ¢l METE SHEFIBRM e &7

(A) AL A IR ATCATEh Il (B) 3TecATf=eh TITHT AR TH=d AT
(C) Yued A A Afed AR (D) SRS LT TR ST Ay

3. @ e ok & vg@ Sia-fewmEt & i e 37
(A) T |FR 3R s HEdrR (B) Tectifesh HETEFR 3T Y9ITd HEIR
(C) ued |rR IR difed (T1et) R (D) 3RS AR TR A <l @rEt

4. The Ajan Peer Dargah is located in which district of Assam?
(A) Dhemaji (B) Sivasagar
(C) Jorhat (D) Dibrugarh

4. IPTNR (S e See A9 w962 ShTs 2

(A) confe (B) fRiamTisie

(C) @<= (D) Rgore
4. SPICHR (I (SR Sl ZACaa wall SiEs 2

(A) cfe (B) Framiela

(C) == (D) Rgsro

(=135 s]
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4. e forfd sumeen semi a9 fSemme g7

(A) emTRT (B) Toemmr

(C) e (D) fegre
4, ‘o= IR qume’ 3em % e e # fea 27

(A) oSt (B) ferawmR

(C) e (D) fesme

5. Who discovered Penicillin?

(A) Edward Jenner (B) Alexander Fleming
(C) Louis Pasteur (D) Isaac Newton
5. (IDRM @i SIRER FafRe 2
(A) 9T (TR (B) SETRCEYR GFlve
(C) =2 7 (D) ESIF #ITh
5. PRI (& SRER FCERCEE 2
(A) GOETE (FF (B) SNCERFSISE @Rl
(C) 7 “IFEa (D) wizers fIEha
5. UHtHfcral |r fegaamm?
(A) TESHE SHR (B) TeishsiaR Feifli
(C) T IR (D) 2mESeh e
5. uffafem & @ foraa e
(A) TSAE SN (B) STcigiel Felfe
(C) T TR (D) e =T

6. As on January 1, 2024, who is the Chairman and Managing Director of the
Reliance Group?

(A) Dhirubhai Ambani (B) Anil Ambani
(C) Akash Ambani (D) Mukesh Ambani

6. 2024 T 1 QRIS T RO P2 LT S A0 HEIETH (el 2
(A) TFel2 S (B) iferst Sl
(C) <erel =TI (D) el gl
E 15 E
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6. 2024 ST 1 SR AT [eTCt ol S @< I “IfRDlere ¢F 2

(A) TFeR S (B) wifere wrgifey
(C) SFP Srfe] (D) 1 I
6. 2024 AFUEM SN qEH 1 @ fome femma myul wiafm o amemm feenfi
aRAH?
(A) fereard stmanfa (B) AT
(C) ATeRI HATETH (D) TehET AT
6. 1 SHad, 2024 %I ‘TroEE e’ % Aege 3R ey fewes w9 87
(A) EWTE TEH (B) AN famt
(C) 3TTeRTST ST (D) HohaT ST

7. The 2024 Summer Olympics was held in

(A) Tokyo (B) London

(C) Paris (D) Seoul
7. 2024 [ Fenrae S e cafee

A) BRFer’e (B) %I

(C) iz (D) =%eTe
7. 2024 ACTFEA S ST B

(A) Corfeere (B) T®c

(C) ~miReT (D) Prece
7. 2024 HEATEM TMeAm SR fAfIS STeReE-m=T Sel

(A) =feReT (B) =d

(C) ufE (D) e
7. a9 2024 1 WHehTed iU fFe T W et fomm = an?

(A) reRn (B) e

(C) Ut (D) T

8. By which community of Assam is the Tusu Puja celebrated?

(A) Tai-Ahom (B) Sonowal Kachari
(C) Tea garden community (D) Karbi
8. 5% “[e SPHA (I SeICaIBICH “IIeTel ¢ 2
(A) BRR-ICEN (B) GRS T2t
(C) D12 &wealdl (D) I
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8. SPICA (I FTMICH =1 57 “[&1 “[T el 27 2

(A) ©iE-SICEN (B) CTCIRIE FI=idt
(C) Bl JMAA ST=mR (D) I

8. 79 9Nl EM( ¢ BT Hiferan?
(A) dTZ 3TTEH (B) & dTal HBRY
(C) I FATHTR (D) Ifst

8. ZH TS TEH % fohd AYa™ gRT HAEA STt 27
(A) TTE EH (B) HiHETet HHI
(C) = W THe™ (D) =hrsit

9. Arjuna Award is awarded for excellence in

(A) sports (B) cinema
(C) literature (D) tribal art
9. (JM (FIS (VY (TS JCT TG 01 2 I 2 2
(A) Frol (B) o
(C) Mz (D) SesTor foawe

9. (I CFCA (VY AV Tl S R (RS = ?

(A) ceTIgET (B) DeTmbE

(C) M2y (D) SeTSTeR s
9. IS TRUWE _ 37E SAggs! WSl BT ST |

(A) TR SEEARAT (B) W&

(C) e (D) e sty
9. form faum # Icpwan o foTu o197 Jweahr wam foran Sfar 27

(A) o (B) femm

(C) Tt (D) SHSITAT el

10. Leonardo da Vinci was from which country?

(A) France (B) Germany
(C) England (D) Italy
10. felemcel w fef (e omia iifee 2
(4) & (B) el
(©) e (D) 2or
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10.

10.

10.

foremcd w fofde (@ (o SISt foge™ 2

GET IT ON
Google Play

(A) ZFT (B) wrsfielt
(C) 2T (D) Tw@
s a1 fufen =% el 9m7

(A) Hr= (B) St
(C) e (D) seredt
feriTel < fireht e 3w & 97

(A) wE (B) St
(C) ¥ie (D) et

11.

11.

11.

11.

11.

Which of the following is a hill district of Assam?

(A) Cachar (B)
(C) Karimganj (D)
T2 (e PR 9%« & 2

(A) PR (B)
(C) Fflg (D)
TR @ SPICTR G 2] (&l ?

(A) Pr=e (B)
(C) lealg (D)
T Se e g f™er?

(A) PSR (B)
(C) =T (D)
fFafafaa @ 9 F9-a1 = 18m *1 = g2t e 27
(A) PSR (B)
(C) R (D)

Dima Hasao
Golaghat

IR
QI

TS 2p1IS
CoNETIEID

fomn g
AT

e swmen

12.

12.

Who is known as the ‘Iron Man of India’?

(A) Mahatma Gandhi (B)
(C) Ishwar Chandra Vidyasagar (D)
FIFERIF ST TR eNRAFE’ Jfel &l 7 2

(A) ==z o (B)
(C) Srapm fRwipTaR (D)
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12. (F ‘©HCSR GeNeR 2o “f[be 2

(A) S=re S (B) R JESSI2 G

(C) Sreavm RmpTeR (D) RTCANR™ =
12. 91 ‘WA @@ g9 e oo

(A) HETCHT T4t (B) TER SguHTE U

(C) 3R == foamrR (D) T Tieg s&aT
12. ‘RA & g T89 o I 9 fRe ST S 27

(A) weTeHT Tieh (B) TR IgHTE qed

(C) $aw=s formamm (D) T T e

13. How many spokes are there in the Chakra of our National Flag?
(A) 24 (B) 36
(C) 18 (D) 32

13. N9 IBR TOIFIF DF© [FATCE 7% (B 7

(A) 24 T (B) 36 T

(C) 18 TE (D) 32 T&
13. INICHE GIOR SR boar R0 SF A 7% L ?

A) 246 (B) 36fb

(C) 18 (D) 32f%
13. S BeUR fRfther TSR o= Sghara e THHR o= ?

(A) T 24 (B) T 36

(C) T 18 (D) 7 32
13. TAR T ot & = A Foraft fiferaf &7

(A) 24 (B) 36

(C) 18 (D) 32

14. Who is presently the Supreme Commander of the Defence Forces of India?

(A) Narendra Modi (B) Rajnath Singh

(C) Droupadi Murmu (D) Anil Chauhan
14. IEIW ST AfSTH A TGRS I 2

(A) «E™ ! (B) el B

(©) @ T (D) i CBrer

35
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14. IS SHCSA ARSTF AR FAEARTE (& 2

(A) &= T (B) e Bk

(C) cafat (D) e (B2
14, STIMETAE WRAM @MY S S i TaTsan 9ir?

(A) Tz 7 (B) T fire

(C) et (D) e e
14. 40 H 9RA hl G TA1ST 1 Tat= HHIS FH 87

(A) Tz T (B) T fire

(C) et g, (D) @it =it

15. As on 1st of January, 2024, which two countries are at war?

(A) Israel and Saudi Arabia (B) Russia and Ukraine

(C) India and Pakistan (D) North Korea and Vietnam
15. 2024 3T 1 GEEIEI AT (A 7347 07 Ja9© (2 SR 2

(A) TEEizE S Gt =< (B) MRl =1 2TCFe

(C) SRS IF NFE (D) Ted @I o St
15. 2024 &R 1 QIR CCH @R Y0 (7 TFTS SR 2

(A) TR €3 EN IFE (B) FIPRT @23 BTG

(C) SR® Y3 B (D) TR (RN @R fecre™
15. 2024 HEAEH ST gMfE 1 37Fe’ WIffem ¢ 74 STethRT aTeel AeHT SHH?

(A) TRIEA AR Hife A (B) TR AR 335

(C) ¥R TR UTfeREa™ (D) HTET ST AR ferram
15. 1 SHadl, 2024 %1 HH-T & 37 J5 | 87

(A) TR AR ASal SR (B) &9 3R Jehd

(C) ¥ 3TR TfeheT (D) 3 it 3R feraam

16. Which of the following countries has ‘Ngultrum’ as its currency?

(A) Myanmar (B) Indonesia

(C) Bhutan (D) Vietnam
16. =Gy (Ngultrum) (P (79 @I ¥ 2

(A) TS (B) BTaICTfR

(C) o (D) fecaBT™

35
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16. CHa (I (TR @R W 8«6 (Ngultrum) ?

(A) SRR (B) ZCwicamRI

(C) o= (D) fecen™
16. TEMETE 8™ 9 8160 Jafzh (Ngultrum) JEME! STemr?

(A) FFHER (B) 3= <R

(C) ¥ (D) o™
16. TereH (Ngultrum) frd 31 6t g1 61 919 27

(A) =HR (B) FeMfimm

(C) ¥em (D) e

17. In which sport did Lovlina Borgohain win an Olympic medal?

(A) Wrestling (B) Judo

(C) Taekwondo (D) Boxing
17. (PICHI (TS FTSfTA] ICANRICH A/ 2/ &S e ?

(A) TR (B) ol

(C) BiEcwRICy! (D) IfEy=
17. (I (YT STl JACONZ[2. G0 ST 9F M [erorReer ?

(A) 3 (B) el

(C) iRCmT (D) A
17. AT SRS 8 SERIRATETE SfAfHeh ST HiA-1 STem ¢

(A) THARRT (B) I

(C) dTERaTE (D) G
17. AT ST 3 fhe @ # fiafues e Sfar?

(A) Fd (B) et

(C) el (D) HeaSt

18. The poem collection Xugondhi Pokhila was written by

(A) Nabakanta Baruah (B) Hiren Bhattacharyya
(C) Nirmal Prabha Bordoloi (D) Nalinidhar Bhattacharyya
18. “poifh »f4e’ TR el T4 bRl (202
(A) TR I (B) BT SEIHR
(C) Torforzrel Tqweat (D) wferaiE SBHRl
OO0
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18.

18.

18.

ol “IfRen’ AT FIS]-TFeC TR 2T

(A) TRIE = (B) 2Aca= SHHR
(C) Frfarerer qqwiat (D) wAferizs SEIHRl
gt uRaen’ g e foeeEt ar foremm?

(A) e ST (B) ERA WerEm

(C) T g sReet (D) Aferter g
gty aftget AT HiFd-Hug & oE® ©

(A) TeeRid SI&T (B) T vz

(C) e g SReres (D) Aferfier s

19.

19.

19.

19.

19.

Which sport is the term ‘Ring’ associated with?

(A) Boxing
(C) Swimming

‘R *FCH! (FERY (L 0 TTS 2

(B) Football
(D) Volleyball

(Aa) BT (B) Tt

(C) fcer (D) Sl

‘R’ =B (@ IR T I 2

() BT (B) Foe

(C) o™ (D) Sfera

T Aiceg 96 T ARSI oissl ¢

(A) G (B) Feaa

(C) wHfe=™ (D) wfersret
“Far’ vree fore @or @ wefYE 27

(A) HeraTsit (B) Feaia
(C) okt (D) aiefiara

20.

20.

/2 /Paper-11/ A

Which of the following movies was not made by Bhabendra Nath Saikia?

(A) Krishnachura

(B) Agnisnaan

(C) Kolahal (D) Sandhya Raag
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20. I (P HeMbab Scam 12 >33 adl e 7712

(A) FEpu’ (B) ‘wfarsrer

(C) ‘cFrem=e (D) ‘st e’
20. TERM 6 AEYAG! Holez 1Y FrhAT fagama?

(A) “PorEET (B) ‘st

(C) ‘wetrga (D) ‘Greamr

20. Hfafaga # 9 wH-Ht her weig T1or fsrn gro T8t sARt w ofi?
(A) ‘ForEEr (B) ‘s’
(C) ‘hictEd’ (D) ‘Hemm T

21. As on December 31, 2023, which of the following was the highest denomination
currency note of India?

(A) ¥2,000 (B) ¥ 1,000
(C) ¥20,000 (D) ¥5,000

21. 2023 59 31 f5Fa AT SRS 25T KT To9 @l G @4 2
(A) ¥2,000 (B) ¥ 1,000
(C) ¥20,000 (D) € 5,000

21. 2023 A 31 fEOTHa ACHCF SHCS 2bfer FACH S & 4l (@15 b ?
(A) €2,000 (B) ¥1,000
(C) ¥20,000 (D) ¥5,000

21. AN 2023 wEAEH fGorr amf 31 e’ fme yrae difem safrgs wfm o foemse a«?
(A) ¥2,000 (B) 1,000
(C) 20,000 (D) ¥5,000

21. 31 fe@sR, 2023 = YRA # T=AfId God a1 ed 1 &l &I A HIH-T1 o017

(A) ¥2,000 (B) ¥ 1,000
(C) ¥20,000 (D) 5,000

EE
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22. ‘Dokhona’ is the traditional dress for women of which community?
(A) Tiwa (B) Khamti
(C) Muttock (D) Bodo

22, W (P TEWRR IREAPTFET 2[R9 AT - RS ?
(A) foar (B) 4
(C) Wb (D) TCwl

22, T (I TRV TAWE QST CAPIF 2
(a) foea (B) «Nfe
(C) o= (D) =@l

22. ‘TN S« BHH SMESIHRA SRS T ?
(A) faan (B) @M

(C) e (D)

22. ‘TEA f0 qYEw i wieanst il qRANE qIeT o
A) faan (B) Wt
(C) wei® (D) =St

23. Maniram Dewan was involved in which of the following?
(A) Peasants Uprising of Patharughat (B) Phulaguri Dhewa
(C) 1857 Rebellion (D) Quit India Movement

23. SR (@ FEiife @RoR e w@ioe ks 2

(A) =909 FI5 [ (B) FEsRE @l
(C) 1857 vo1 ficur (D) SR Siiol SICwIE

23. WORN e FFIRS @mba 7o IS =eem 2
(A) IR FIF [Tz (B) Fo1%fU cyex
(C) 1857 e fRcwrz (D) SIS RICT! SCHIET

(=135 s]
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23. AURH T oI« GHETERATES cAlss SHI ¢

(A) UUEEE( SATEETN AHTEER (B) PRI erar

(C) 1857 UHUTEH WHEHAT (D) ¥Rd MR AHTEHRATRT
23. ARM o= it o

(A) uerEETe o R fage & (B) Bol gar §

(C) 1857 & fagie @ (D) 9Rd Bl Aeie §

24. Name the State in which the Thar Desert is located.

(A) Punjab (B) Haryana

(C) Rajasthan (D) Maharashtra
24. 49 TFEN (T TS LTS ?

(A) “GIq (B) =if<rem

(C) &= (D) w213

24. 47 TFYN (T ACH (TS ?
(A) “NGR (B) =
(C) ASER (D) W2E

24. °F FATRMRET 9« TS &7
(A) FI=TTs (B) T
(C) TS=IH (D) wewry

24, IN HEEI fohE TT T fedyq 27
(A) T (B) efEmm
(C) TSI (D) HERTE

25. Looking from Assam, in which general direction is New Delhi located?
(A) North-East (B) West
(C) South-West (D) South

25. SPRE 7] o FIECET, Toe Wal (T e S@iEe 2
(A) TEI-97 (B) 5w
(C) wfEpel-=IF5x (D) wfeel
EE3sE

B
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25. P (AT o1 FAcE Ao el (@ e wfes 2

(A) Teg-o{ (B) =I5

(C) wFe-[5x (D) wrawel
25. Ter fafgan ety sefosm?

(A) GT-HHSTET (B) @IATer&T

(C) WreTT-HHTeTET (D) @reTat
25, 3WY ¥ @A W, % fegt form foem o foora 27

(A) IT-gd (B) ufsm

(C) =fequr-ufsm (D) =feqo

26. “A person who sets up a business, taking on financial risk in the hope of profit”
is termed as

(A) capitalist (B) entrepreneur
(C) businessman (D) investor
26. ‘‘FMSF M [TER RomriFl 3271 S’ W@ T30 7ioM 377 (9€F @FT 27
(A) feefe (B) Scwim
(C) T=eTE (D) RfFcaeRmS!
26. ‘g e [l e S oS i 220 Fg G0 TP v A ST o1 =
(A) “fa=fe (B) Sewre
(C) IR (D) fafercarpiat
26. YATEHIH Ui T AR FEreT S aieE s hae et get
(A) gfsrfd (B) TAIF=
(C) et (D) e
26. T I RN H foxfta SRam 331 T S =Afh HI3 @™ TATMU FLAT , 34 HaT ST 8
(A) defrafa (B) el
(C) =raErht INMEELED

27. Which of the following rivers flows from South to North?

(A) Subansiri (B) Manas

(C) Kopili (D) Ranganadi
27. RS @R Tl e o] Teg et 3 AR ?

(A) et (B) M=

(C) e (D) JgwEm

35
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27. S @ A0 v (AT TeF 2Afee 27 2
(A) SRETIE (B) M
(C) o (D) el
27. TEEE BHE s SHE WIATEIHNE™E |iel Siedi?
(A) FaAmR (B) WM
(C) et (D) T
27. ffafga & @ wm-wt 7 <faor @ ST i 3 T=dt 27
(A) Gt (B) #MH
(C) =ittt (D) T
28. The Assamese food item ‘Hurum’ is prepared from

28.

28.

28.

28.

(A) Tal jaggery (B) betel leaves
(C) bamboo shoots (D) Bora rice

SO AW ‘2@ 559 0|l 2Ee 9 =W 2

(A) S GT (B) MK AT®
(C) dr= aler (D) a1 BI%a1
SRR A TN P (AT ATS FA1 2 2

(A) ST GT (B) 217 [
(C) TR &I (D) =T BIE
ST S qal ge @l wisii R ST ?

(A) T TR HTg (B) ®1& foremg
(C) 3TraT Harg (D) HTEST AT
rafie e v gen fRee qEm TR s 27

(A) T TS (B) UM % T
(C) | % I (D) a1 =mE

29.

29.

(A) only banana is traded (B) women are not permitted
(C) buffalo fight (D) barter system
(&I (Ve e Fog (qHEs 2's
(A) (T 9 (@OIRPN T4 27 (B) WfZER ACa SRS 1%
(C) T2 yw (D) fafersa 2t
/2 /Paper-11/ A 20
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29. (TR (WAR AT GFo FoF (IS 2o

(A) SYIAG FoT (FACIDN = (B) Wf2eIcwd SREie (redl =3 =l
(C) f2ewq =Teid (D) fferw 22
29. S HAAE BRI @l Hid SRGTEal
(A) ferfe SR B SR (B) fe~ta®rr o=t AT
(C) BE YaRH™ (D) YA AiaAE-did @i
29. sl Ot #§ =R il Uk fafyre faear @ 27
(A) Hac T HT AR BT 2 (B) wfeamsett #t argafa T 2
(C) 9 e (D) ag-fafwar v

30. Dhokla and Fafda are traditional snacks of which State?
(A) Rajasthan (B) Punjab
(C) Gujarat (D) Goa
30. YT H[F FI7ET (RIS e =IO Gl ?
(A) &=L (B) “&<
(C) WAL (D) cormat

30. (AT GIR FI2EI (I AT A2 TR 2

(A) qrerZLe (B) &

(C) =AD (D) carm
30. G AR FIHEMET 96 TSI QRIS ETSI?

(A) TSR (B) UT=TE

(C) TSR (D) e
30. Tl 3R HThe! fohd T5T & IRUNE A9d 87

(A) TSEIH (B) USIE

(C) Tor (D) e

31. Which of the following is the Lower House of the Parliament of India?

(A) Vidhan Sabha (B) Rajya Sabha

(C) Lok Sabha (D) Vidhan Parishad
31. RIS FACH TR AL @ 2

(A) farerTer (B) qrewTel

(C) Tl (D) e “Af<am
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31. TA @D SRCS AR FFF 2

(A) fRePTel (B) A&l

(C) TPl (D) fRue ~Ifsam
31. TEEM T YA FEeH TE™ g ?

(A) foram = (B) TEST A

(C) @ g« (D) faum qftwg
31. f=fcifiga 4 @ S-a1 wid i g9 w1 e geT 27

(A) faam g (B) TT |

(C) <k | (D) Tarem uftsg

32. Which of the following States is known to have highest coal reserves?

(A) Jharkhand (B) Maharashtra
(C) Karnataka (D) Mizoram
32. RIS (FMem Tere FE4F FETE SISE SR I SIS 2
(A) F=Ee (B) w=HIg
(C) F5F (D) fceEm
32. TIF (@ ACSH ACETH FIEE SIGF SR ¢ Sl TR 2
(A) AT (B) T2
(C) o= (D) fceTRIN
32. TERM T TESSATT SEiRgE e el Wi g g Hitem?
(A) FREUS (B) wewg
(C) AT (D) ot
32. F=fafiga & @ Fi9-a1 v rfoemdq S ¥er & fie S Siar 27
(A) e (B) Wewrg
(C) Tl (D) firsTrm

33. Maibong was the capital of which kingdom?

(A) Koch Kingdom (B) Dimasa Kingdom

(C) Chutiya Kingdom (D) Kamata Kingdom
33. R (FTY e el e 2

(A) (IO Ten (B) e qrey

(C) pom arey (D) @I JTeH
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33. WER P AR A 23 2
(A) IS Sy (B) T e
(C) pher ey (D) Sl qren
33. AREEST 99 S T f—di?
(A) == TS (B) femman TSt
(C) i TSt (D) HHaT TSl
33. A fFa T it TSy off?
(A) = T (B) femman o=
(C) i = (D) Al T
34. Dandi Yatra was a part of the

34.

34.

34.

34.

(A) Quit India Movement
(C) Civil Disobedience Movement

TG Gl (FICHIE S e 2
(A) SRS S SACHITR
(C) B S ST

TIfG T FOT =LA 2T 2
(A) SIS RCT! HCHIEC
(C) O[] N3[eff S[CH[cTCeT

Trfog S _ 13 sermEiE |
(A) T T AHTEGERAT
(C) T TR AHTEERA™
grEt am formeRt fega o7

(A) YRA BISI 3MEIH

(C) T TaT JTEITH

(B) Non-Cooperation Movement
(D) Purna Swaraj

(B) SPIRIS! SCHIETq
(D) o Fr&

(B) SPTREI9 SCHIEICR
(D). #jef FaICEs

(B) THSIEEI HHEERAT
(D) 991 TR

(B) STHEIAN AEITH
(D) 9of TR

35.

35.

Which of the following is not the name of a district of Assam?

(A) West Goalpara
(C) South Salmara-Mankachar

(B) Kamrup Metropolitan
(D) West Karbi Anglong

oo 2a (PFTCE! SPTe @ et =T =12 2

INBIRT RQISIEKI
(C) W=l *ETI-TFI6F
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35.

35.

35.

N D SO G0 (ST T w7 2
(A) PSS CATRIET=TEl

(C) Wil AT -TPI5

e ST et o et g T
(A) TS TETTIRT

(C) WAl ATHRI-THHTSR
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(B) 7 291K
(D) I IR =ngeR

(B) &Y U2 ufete™
(D) TS wIfe AT

fFfafaa @ 9 -1 = 1m & o @ 9w @ e

(A) e TaETerr
(C) &1 ATTHRI-HTRT=T

(B) &Y HER
(D) ufem el e

36.

36.

36.

36.

36.

Which State lies towards the North of Assam?

(A) Arunachal Pradesh

(C) Sikkim

TP Teq ® (@14 ey ST 2
(A) STFeIDeT 20|

(C) =i

@ A PR Ted id S[Te 2
(A) STFeIDST 2IC|

(C) e

o TESI SAEM T &7

(A) STEUTEA TeuT

(C) fafem

m < I T 4 we-un s e 77
(A) STEUTE JeuT

(C) fafem

(B) Meghalaya
(D) Nagaland

(B) CTaw@R
(D) TaMCeTe

(B) IR
(D). =TralTeTS

(B) HETe™
(D) ARTRA=

(B) Hee™
(D) FTRRTE

37.

37.

Which of the following is not a Fundamental Right?

(A) Right to equality
(C) Right to digital information

eTreT2s (sl (Tfere SEe 7=y 2

(A) STOR HEFE
() ffecssr v wfgwia

/2 /Paper-11/ A
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37. I @FO (e wfEFE 7w 2

(A) TR SfER (B) =R S

(C) TfEnrE seam Sifla (D) R efeas Skl
37. TREH & HHEHAT o HHATE TST7

(A) THME THeTE (B) 3eTfa WiFeg

(©) fefsea mnfefsr mmems (D) wffsarik e @em
37. Fefafad & @ FA-91 U Hifas AfUwR T8 27

(A) THMCT 1 ATTHR (B) =A@l 1 ATTHR

(C) feftea SRt =1 stferR (D) T ITART 1 ATTHR

38. Which is the capital city of the United States of America?

(A) New York (B) Washington, DC
(C) Chicago (D) San Francisco
38. IR &8 (USA)T el 521 52
A) fresT (B) =G, o
(C) foreen (D) = FIBCR
38. Wi FSAET (USA) A&l *12d Sl 2
(A) fesz (B) sfihe, fEF
(C) PRerCan (D) AEFIEPICH
38. [ g T (USA) 7 sremafsen smr?
(A) Tz (B) afired, fo fro
(C) Te=nr’ (D) O HHHS
38. U =T I (USA) I TSI 36T 1 27
(A) =Fieh (B) afymred, Eto o
(C) fermm (D) &7 HiferEnt

39. Who composed the poem Korotolo Komolo?
(A) Nilamoni Phukan (B) Mahapurush Madhavdev
(C) Srimanta Sankardev (D) Nabakanta Baruah

faVa

39. ‘G9os e FROIH (FICT oo lafRet ?
(A) TreTafer T (B) W27 A
(C) TN *FaCHa (D) “RFE I

Ez3NE
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39.

39.

39.

‘I e PESIG (F T0] FCARCE ?

(A) ToTie T (B) W=7 A
(C) AT *wIE (D) TRIIB I
“wad wA | g el ar g

(A) e g (B) WETgE HIEa
(C) *fH= Tretes (D) T e
“FTAA FHA Hiedl hl AT R Y oft?

(A) e Ford (B) WETIES Wigaad
(C) #iwd zERea (D) aia FwaT

40.

40.

40.

40.

40.

Magh Bihu is a festival celebrated in which month?

(A) April (B) January
(C) October (D) March
T g TRICHT (I =S 71 Pl = 2

(A) afere (B) WSl
(C) SCFRS (D) =6

9 g TORH @ 0T (1T 27 2

() i (B). STl
(C) SR (D) 16
A gETRE! Sd ST Wil ?

() T (B) STgarl
(C) 3R (D) |
e forg fore 9 & TN ST AT @ER 27

(A) =T (B) SHadl
(C) TEH (D) @

41.

41.

What was the real name of Mahatma Gandhi?

(A) Mohandas Kumar Gandhi (B) Mohansingh Karamchand Gandhi
(C) Mohandas Karamsingh Gandhi (D) Mohandas Karamchand Gandhi
TR SRR 2F© N F e 2
(A) TR AR o[ (B) C(NT2APE FIAGIW ST
(C) CrZewPT FINPR Sl (D) CZeWPT FIE Sl

OO0
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41. I AR 2FS AN F e 2
(A) Iz P SR (B) (ATZAIPIRE AL oI
(C) (TP FINPRE. STl (D) CZeWPT FAIoM Sl

41. WETCH TR T g1 JEE?
(A) HEE™ FHR T (B) Hefe AT Teeft
(C) WeTeT| athg et (D) HEIETE TS et

41. HETcHT Tl S STEafaes T AT oY
(A) Hiee FAR Tief (B) Higdtas =g ief
(C) Tree™ FHfdg e (D) TIEe™ HHwE Teft

42. Who was involved in the Kalinga War?
(A) Ashoka (B) Bimbisara
(C) Bindusara (D) Samudragupta

42. IR0l Fa© (T TS Aifes 2

(A) ST (B) Rfpra

(C) =T (D) HEBY
42. 1% & (F TUS R 2

(A) ST (B) =

(C) fpE (D) TR
42, HiATH EEST GGl Alsal aHH !

(A) 3T (B) fefreram

(C) forgar (D) TSR
42, FcH I3 T HIA IMHA 217

(A) =TT (B) Tefreram

(C) forgar (D) THsTH
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43. Who was the first Mughal emperor?
(A) Humayun (B) Aurangzeb
(C) Babur (D) Akbar
43. AR (9 FH0 (Pl ST 2
(A) =R (B) SICEH
(C) =9 (D) S
43. 2 YT A (F oo 2
(A) =R (B) &=
(C) == (D) SRS
43. TIfafeE gra |uer 9E?
(A) gHTIT (B) RS
(C) @R (D) AR
43. TIH TEAT YT HUTS A 917
(A) gL (B) TSt
(C) =’ (D) T
44. When was Bangladesh created?
(A) 1947 (B) 1962
(C) 1951 (D) 1971
44, JENCH (e B G2l ?
(A) 1947 (B) 1962
(C) 1951 (D) 1971
44. JIECH I 9IS 2R 2
(A) 1947 (B) 1962
(C) 1951 (D) 1971
44, TR Hlsell ARG ?
(A) 1947 (B) 1962
(C) 1951 (D) 1971
44. SR FHA TS 3T oAT7
(A) 1947 (B) 1962
(C) 1951 (D) 1971
Ep 3N
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45. Identify the incorrect pair of State and capital city of India.
(A) Uttarakhand : Mussoorie (B) West Bengal : Kolkata
(C) Chhattisgarh : Raipur (D) Goa : Panaji

45. SHSIT IS HF Il 5299 9% @R[ e T3 |

(A) TeHe : LR (B) IMoxe : STl
(C) =&Y : IRI7F (D) (ST SIS

45. S[FCS e G- AU $REAT T (I S P |
(A) TeRe : OTE (B) o : el
(C) =fe™le : AR7d (D) (oIl = ATTIS

45. WRAH TR T g AR TSYEH SRt @’ |
(A) TEvs : wgd (B) |HTS ST : FHeTshral
(C) BellErTg : TAR (D) & : TS

45. 9Nd % T AR TSUH X il TTerd St bl gg= |
(A) ITEE : T (B) UlEm S : hictehrdl
(C) BUEE : TR (D) TaT : HoTSt

46. Which of the following positions is appointed by the President of India?
(A) The Governor of a State
(B) The Chief Minister of a State
(C) The Speaker of the Legislative Assembly
(D) The Cabinet Minister of a State

46. RS @G 79 RS et qgefec e 2
(A) TS ST (B) e g
(C) fauerTem s (D) e (FHCs 9@

46. Tood (T “lord gfe eRces qgefe awe w2
(A) FCEF AT (B) ACEHH U@l
(C) urrrer wiurs (D) ACER TariFree @
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46. TEEH s« qTEA foreaRrE! gedfiteEn aem?

(A) TSI ST (B) & TSt fiifsr wfr

(C) foram wanfy gfefify (D) TSI e 7=t
46. frfafaa # @ form ug &t fgfe wra & wgufa g i st 27

(A) Teret T=T 1 TSI (B) Torelt T=a1 w1 gt

(C) Taam @ =1 31ege (D) et T= &1 Hfeme ot

47. Which statement is not correct?
(A) Visakhapatnam is a port city of Andhra Pradesh.
(B) Narmada is a river.
(C) Kanchenjunga is a Himalayan peak.
(D) Chilika Lake is in Gujarat.

47. G SfE W w=w 2
(A) RETUGT SEHATTHR @4+ 79 52 | (B) Tfwl Qe =7 |
(C) PleeeTeRdl f2AERE g *240 | (D) o= 27 woRve SwHFs |

47. S St wm T2
(A) TPreresTs SEAeE @ I 2 1 (B) TNw G0 i |
(C) Feweed] BAEEE GIFb A | (D) o= 2v ¥EAE T[T |

47. 9« fagioan @’

(A) ToemETETET YT Y Sl AR (B) THSET HI9Y <A

(C) s feure™ B et | (D) Tt feretten e |
47. HH-T1 H9F T TE 27

(A) TorTRETIT 3Ty YT T Uk SEUTE el e | (B) HET U A B

(C) T fEHTera o1 weh fITer 2| (D) fereemt et TeIa ® 2|

48. Which material is the ‘Gogona’ made of ?

(A) Bamboo (B) Terra-cotta

(C) Copper (D) Buffalo horn
48. ‘sl (FICHI AT COA[ 1 2 2

(A) 4= (B) CBaTCpIBT

(C) =™ (D) W23 i

35
B
/2 /Paper-11/ A 30 ik


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247|

48.

48.

48.

“alareTl” (P SEme el CofR 2

(A) <

(C) <

‘A’ @ AT SETest SR S
(A) 3T

(C) dm

AT’ foR et § SHaT 27

(A) S|

(C) e

GET IT ON
Google Play

(B) ComemiD
(D) g MR

(B) HET™ &
(D) #&r T

(B) UahIeT
(D) 4| =1 "

49.

49.

49,

49,

49,

Which country did Nelson Mandela belong to?

(A) Brazil

(C) South Africa

GTETo GO (P4 (P9 SR 2
(A) afemt

(C) wiel SIF<

CTETT SIICGET] (T CTCHIR fReer™] 2
A) e
(C) wiFel SNRFI

B e R IR C R T L E
(A) S

(C) @I ARt

Jouq Hea TR I % 97
(A) SIS

(C) =feaur SThiept

(B) Switzerland
(D) Argentina

(B) pEECsTS
(D) SIS BT

(B) R
(D). SCEiToaI

(B) YEoIRaive
(D) 3TSifeaT

(B) feresieis

=

(D) i

50.

50.

Which continent is the Sahara Desert located in?

(A) Australia
(C) Europe

SRR TFS (P TS STS 2

(A) Scgfer
(C) 2T@I7I
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50. 2! TFH (FIe T TAAES ?
(A) SRR (B) MR
(C) 2T (D) «fr
50. TTERI STATETHRT 99 ZEHRE &7
(A) srefera (B) =i
(C) =@ (D) i
50. TeR fiRaH form weTdiv § eafem 27
(A) sTEfern (B) 3T
(C) = (D) Tf¥rn
51. Which country is known as the ‘Gift of the Nile’?
(A) Egypt (B) Lebanon
(C) Israel (D) Saudi Arabia

51.

51.

51.

51.

PRI (P et i wie” Jfer Sl AR 2

(A) &

(C) T&aize

I O ‘T Twd Wi e AfoS 2
A) =R

(C) T&ACHE

oo gl A em gae e
A) TR

(C) ST

e Tor 1 et 1 IUER & AW W STHET ST 87

(A) Tra
(C) ToREA

(B) G
(D) B =1

(B) R
(D) G SF

(B) &
(D) Hifg

(B) &AM
(D) ¥3dl 3W/A

52.

52.

Which vitamin is vital for bones and teeth?

(A) Vitamin D
(C) Vitamin C

~

e e

T HF 1[e] A (@Y oI ofe

(A) feBifm D
() febifim C
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52.

52.

52.

I O 2T 8 WITeq &l ST 2

(A) febifm D (B) feoifse B
(C) febifim C (D) febifim A
EEREIEEIRE R RIH IR IR IS 1218

(A) faarf= D (B) Tt B
(C) frarf C (D) firatfim A

- Fafi wfet o gidi % for w27

(A) faerfim D (B) faeifiw B
(©) faerfim C (D) faerfim A

GET IT ON
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53.

53.

53.

53.

53.

The normal blood pressure reading for an adult human is

(A) 65/85 mm Hg (B)
(C) 80/120 mm Hg (D)

G AR 2T A TSP FelfP T (202
(A) 65/85 mm Hg (B)
(C) 80/120 mm Hg (D)

e AIYIAR T TSI el e 251

(A) 65/85 mm Hg (B)
(C) 80/120 mm Hg (D)
T SR G e S -TRemE

(A) 65/85 mm Hg (B)
(C) 80/120 mm Hg (D)
T I WIS o fOTC T ThETT 6 A @

(A) 65/85 mm Hg (B)
(C) 80/120 mm Hg (D)

95/155 mm Hg
65/140 mm Hg

95/155 mm Hg
65/140 mm Hg

95/155 mm Hg
65/140 mm Hg

95/155 mm Hg
65/140 mm Hg

95/155 mm Hg
65/140 mm Hg
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54. Which of the following IPL teams did Mahendra Singh Dhoni captain?
(A) Mumbai Indians (B) Chennai Super Kings
(C) Rajasthan Royals (D) Royal Challengers Bengaluru

54. Wz% 1R (a1 WEIRe @Rl IPL woR SieReey S 2
(A) TR ez (B) beE gl faeg
(C) ST IR (D) ICEI (OCEGRR (IRAAEP

54. Wzm PR (e TEF @ IPL wed SfEe f=ee 2
(A) o2 B (B) Coei2 7 fpe
(C) el ST (D) RO SICEGIH (TP

54. "3 fig o 9« IPL el SeAfieE?
(A) TraT3 3fEmE (B) ==Tg gur fore
(C) TSI Wed (D) WS =cistd STe

54. T2 fig ot 3 F=fefea @ @ forg IPL S 61 st i
(A) HFS ZheTw (B) =% gw
(C) TSI aed (D) IS BIciod sTCT®

55. As on 1st of January, 2024, who is the Minister for Panchayat and Rural
Development of Assam?

(A) Chandra Mohan Patwari (B) Ranjeet Kumar Dass
(C) Atul Bora (D) Urkhao Gwra Brahma

55. 2024 b4 1 QIISI CACH PN LRSS AN [el9q I I 2
(A) ©% (1= AR (B) dfere g
(C) wrgs 1 (D) T« (oMl =

55. 2024 R 1 SR T SPICHE 7S € A [ (F 2
(A) ™ (/= AR (B) wfere = woT

(C) =rget <=1 (D) TF4re ¢TAr =
335
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55.

55.

T A9 2024 STgaRt aFfA 1 o9’ fawma samf agmEa SR M St #fE aRaE
(A) =% Wed U At (B) =@ FAR T

(C) AgeT s’ (D) IWEE T &

1 S, 2024 = 3@ % Y=ad R arHr foee weft e 27

(A) =5 HiE gear (B) ISfa R 2™
(C) Iga I/ (D) T@TAT TR S&n

56.

56.

56.

56.

56.

Who wrote the book Runs and Ruins?
(A) Kapil Dev (B) Ravi Shastri
(C) Sachin Tendulkar (D) Sunil Gavaskar

Runs and Ruins 7N Feoi4e & i ifee 2

(A) FFE @@ (B) IR =13

(C) Bl (oYeTHIT (D) T ooz
Runs and Ruins 5% 330 & e 2

(A) FE @@ (B) SR =13

(C) Bl (o= 1)) IR RIS
Runs and Ruins G fosieat 9r feram?

(A) HUe & (B) = wreft

(C) HfeH TR (D) G MHRERR
Runs and Ruins J&ae foraa foredi?

(A) iUt < (B) T wmeEh

(C) W dgaret (D) g TaEert

57.

57.

In which language was Munshi Premchand’s novel Godaan written?
(A) Urdu (B) Konkani
(C) Hindi (D) Gujarati

1 CorTOTE ToRTP, “ComIE, (I SRS ford C2fee ?
(a) ¥ (B) crE

) &= (D) TS5}
Er3SE
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57

57.

57.

GET IT ON
Google Play

. E CATDICH TATIT (I (I S A 2

(A) o (B) =R
(©) f2 (D) @Ml
AR IHETEH g H TEE @ e TE oA Seime?

(4) 3§ (B) iRt
(©) fe=h (D) TR
Teft Y=g 1 U= TMeH fohd s | feran e on?

(&) 35 (B) Hioft
(C) fe=t (D) Tt

58.

58.

58.

58.

58.

(A) A very powerful cyclone

What is understood by Tsunami?

(B) A major earthquake in the Himalayas

(C) Heavy floods in Eastern India

(D) High waves in coastal areas

DS Jfercat 6 e A 2
(A) e 2= gHiaerR
(C) “F THw® (Bl 9P 25 I

SIS IS F IR 2

(A) 4 et gidfare
(C) “F ©RC® 2&q =73 T

ATH FeSTeaT H1 g ?

(A) Sfreg Tt ST

(C) TSI IRATE TS ST
AT | 1 HE a1 2t
(A) T Fgd WK =shalrd
(C) vt wra # st =g

(B) 23RS 21 @3 928 TR~
(D) TeRFeTR w%eeTs (21 THAEE (Bl

(B) faureica zea «3fo qw i
(D) ToPER GoTPR & THAAR (BT

(B) TewTer Broiiata MeX STHTEH
(D) et SRf s T i ) A

(B) feurera & us w1 g
(D) o &t 8§ = et

12/

Paper-11/A

36

Ez3NE

S


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247)

59.

59.

59.

59.

59.

In Assamese literature, who wrote under the pen name of Saurabh Kumar Chaliha?
(A) Surendra Nath Medhi (B) Nabakanta Baruah
(C) Lakshminath Bezbaruah (D) Bhabendra Nath Saikia

G FH BfeTzl RARMICICE (I SN AZers forl- (et wfafest 2
(A) cT™ 2 (B) TGFIE Il
(C) TR (o (D) S =12 %2l

SRR SARCS) GTe FHIE Bferal QAT (F fo1eiees ?
(A) cTm T A (B) TRIB I

(C) STRMIY (@SR (D) =T M 2

URY FUR Aferer § o foran srafien forfifen dam?
(A) G A (B) TeehTd s
(C) aAEH T Ssterean (D) wers A1 WgfeRa

sTaftET Aifec H§ §R FAR FMfcrel & S0 § fopad foran?
(A) grzr neft (B) Tahid ST&T
(C) AeHiTY SsEesT (D) weig A1 Afera

60.

60.

60.

By which Assamese author was Mamore Dhora Tarowal written?

(A) Rita Choudhury (B) Nirupama Borgohain

(C) Chandana Goswami (D) Mamoni Raisom Goswami
‘TN 9 O (PIFSIIF] PR CFTUCF ool PifRe] 2

(A) Srer Gt (B) fieom Facarmziive

(C) Tl AR (D) (e G O

INCE &1 SR (I SR (14T To+1 FCARCE 2
(A) T G (B) fereomn qqeamziz

(C) Wl Colria (D) TN AT At
Ofhi0|

B
/2 /Paper-11/ A 37 [aifie [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247)

60. ‘WY g0 QAT @l 9r e fofifen foreme?

(A) Trar = (B) Frrewmr s =t

(C) = Tt (D) =T wEm T
60. TR & At ST oige g fordt mE oft?

(A) Gar =ed (B) Trreumn swmeT

(C) =T Tt (D) TR T e

61. Which of the following has two humps on its back?

(A) Nilgai (B) Arabian camel
(C) Bactrian camel (D) Black panther
61. RGO @MOR PP [HIe & = ?
INIGIERIE (B) wI<IT To
(C) @2fe T (D) ca1
61. oa (Iwiva f#ieo 7ib $& e ?
(A) a2 (B) wr<aw 6
(C) crrzl (g TH) (D) _<Flcett ol
61. TEEM gl foigeta HiA- gam ami?
(A) i (B) IREH 32
(C) sfagai 32 (D) TEm @@
61. f=fcifaa # @ foraeht ¥is W 31 Fig 27
(A) e (B) 3T 32
(C) affem Fe (D) =IET g

62. In which city of India is the Charminar located?
(A) Hyderabad (B) Chennai
(C) Prayagraj (D) Chandigarh

62. T[T (JFY 52TS RN SEEFS 2
(A) ZEEEM (B) ¢paf2
(C) 29T (D) 58T
EEINE
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62. RIS (I *12CH BIARTR S[ES ?
(A) ZR@Em (B) coeR
(C) ZRIsRTS (D) &I
62. IR 3T Rt o« T g7
(A) TSR (B) =418
(C) AT (D) =fogTe
62. <R R & fe wee # foorg 87
(A) TEUEE (B) J=%
(C) TATNHIS (D) =EhTg
63. What is the length of a cricket pitch between the stumps?

63.

63.

63.

63.

(A) Twenty-two meters
(C) Twenty-two yards

[&FCF0 BroePREe e e 2% ord (s 2

(B) Twenty-two feet
(D) Twenty-two inches

(A) 2= foR (B) 2= 6
(C) 2™ & (D) 2= 2%
IR TG [ CRh PICha Oy e 2

(A) 3 [o" (B) iz b
(C) AT e (D). a2 2
AT BRAT SR e e fimn s e S

(A) I fier (B) A T2
(C) A ™ (D) =f s~
@Ol & o= foreke o <1 oiamg fohet Bt 27

(A) =TEE Hie (B) =TEd g2
(C) =méw T (D) =TE@ ¥

64.

64.

Near which landmark is the Atal Tunnel situated?

(A) Khardung La Pass
(C) Sela Pass

(B) Rohtang Pass
(D) Umling La Pass

(FICH T (Landmark)d AN S(5s1 F49 QTS ?

(A) <R = farfEe
(C) cverl farfsere

/2 /Paper-11/ A
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64. <67 % (1 T4 e (Landmark)-43 F2 SRES ?
(A) R = faifdere (B) =R fafe
(C) CTe o7 (D) THferR = falfEele

64. 312 =< d¢ SR QiR ?
(A) TR (B) Tl 4@
(C) Hel U™ (D) ufd @ a™

64. 312 g1 forg T -faere & uw srafeq 27
(A) =RgT @ (B) Trgam &
(C) T g (D) 3afert o g

65. Which of the following is not extracted from crude oil?

(A) Petrol (B) Bitumen tar
(C) Kerosene (D) Turpentine oil
65. o2 (FRY Il (Tor 2[1 Eee w1 7= 2
(A) in’= (B) SIErmreal
(C) &AM (D) I (o
65. A (@A SRS (9o (0P gme w1 27 1 2
(A) 5=t (B) SIepred]
(C) e (D) @It coe
65. TERE B 9 YATE! Were arafer g st
(A) vt (B) foigh smmewshre
(C) hurfer (D) AR o

65. FHIRad § 8 HH-91 %=l do § gt fehren San 27

(A) v (B) forgid 2
(C) Tadt =1 aa (D) ARAH =T dd
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66. A shopkeeper offers two consecutive discounts—first 10% and subsequently 5%
on a certain item. The equivalent discount offered on the item is

(A) 125% (B) 15%
(C) 13% (D) 14-5%

66. 9T (MFEIE (FA 9T ANAS RIS THIF—2AA 10% S T8 5%I ([=/2 W=
B | HANCHTS 2WIe P TGN (2129 T+ (22

(A) 12:5% (B) 15%
(C) 13% (D) 14-5%
66. G (IEWE TR 4t we @b W ANAR ToE 2w Fea—aAWh 10% 9% ARTIIcS
5% . AR TR 27 I AT BT 251
(A) 12:5% (B) 15%
(C) 13% (D) 14-5%

66. ™ AR HH-Y SEEH T&E I A4 BH eFl—RAmsE 10% 3 349 5%. o sHeH

B IRICAIEI R RIRS Gl
(A) 12:5% (B) 15%
(C) 13% (D) 14-5%

66. TF GHMIR T %] T AR 3l P2 a1 e—T8cl 10% IR I8 H 5%. 39 aeg W & I arett

qude L ®
A) 12-5% (B) 15%
(C) 13% (D) 14-5%

67. The equivalent fraction of the decimal number 2:25 is

9 9
A (B) s

9 9
(C) = (D) 3

(&35S
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67. WIS A 2-259 e BRI T =T

“ B <

© 2 o) 3
67. TINS TR 2-25-9F TN SAA BF

@) = B <

© > o) ¢
67. M SHISHT 2-25/ THH r@TE@REIST ST

) 2 ® <

© 2 o) <
67. SIS T 2-25 T AU (9 B

) 2 B <

© > o) <

68. The total interest accrued on the principal amount of ¥ 10 at the simple interest
rate of 10% per year for a period of 10 years is

(A) ¥1,000 (B) ¥100
(C) ¥10 (D) ¥1

68. TR 10% A9e Yoo € 10 JFCA 10 I2T0 S&ie 91 o 7o 2[R9l (2"
(A) ¥ 1,000 (B) €100
(©) T10 (D) T1

68. Tae ¥ 10-99 TR AGARF 10% o1 Fend 20T 10 = Bfere (i Ford “Afel 29
(A) ¥1,000 (B) ¥100
(C) ¥10 (D) €1
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68. 3TEIA ¢ 107 dEE FERE 10% TRl & g1 10 bR ST a1 SeH

(A) ¥1,000 (B) ¥100
(C) ¥10 (D) ¥1
68. 10 =9 &I 2@ty & foru ufd ad 10% & Tramer =9 X W T 10 A qat Wi | Afa Fa = 2
(A) ¥1,000 (B) ¥100
(C) ¥10 (D) ¥1

69. The angle between the minute hand and the hour hand of a clock at 3:00 p.m. is
(A) 30° (B) 60°
(C) 90° (D) 120°

69. M 3:00 T&Te GBI GO @G FB1 S IH1 FIBR TSI (FICH 279

(A) 30° (B) 60°
(C) 90° (D) 120°

69. a1 3 wioer b qfq T 101 @R TDIF FIOF T TR (Il 291
(A) 30° (B) 60°
(C) 90° (D) 120°

69. ST 3:00 fomEme w8 =i Wifte g o g g aeEE G we
(A) 30° (B) 60°
(C) 90° (D) 120°

69. ITE 3:00 & U =l Al fie il g M =52 1 g5 & g o1 =01 7
(A) 30° (B) 60°
(C) 90° (D) 120°

70. The two angles of a triangle are 75° and 65°. Twice the measure of its third angle is
(A) 40° (B) 50°
(C) 60° (D) 80°

70. FIC &3 TO9ST 701 (FIR 7 75° FF 65°. T POl (FI[ %[ 128° (202
(A) 40° (B) 50°
(C) 60° (D) 80°
ELNE

%
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70. @C 3 qocem qib @R AR 291 75° @R 65°. T2R $OR (IR ARNCR Gl 2
(A) 40° (B) 50°
(C) 60° (D) 80°
70. AL THAM F9 I 9FT 75° AR 65°. A G BHA @R
(A) 40° (B) 50°
(C) 60° (D) 80°
70. T FIys % @ w00 75° 3R 65° % T 36k AR IV H GAT A B
(A) 40° (B) 50°
(C) 60° (D) 80°

71. The area of a triangle is 18 square units and the base of the triangle is 12 units.
The height of the triangle would be

(A) 15 units (B) 9 units
(C) 6 units (D) 3 units

71. I 9% fqpes chare 18 95 4% WF PN 12 9% | fqgeehia Twel 2’7
(A) 15 95 (B) 9 479
(C) 6 9F% (D) 3 9F%

71. &3 fqgead (Fawe 18 of e R fqgaftd o 291 12 @5 | fageiog Twel 2cq
(4) 15 93 (B) 9 <33
(C) 6 9T (D) 3 <%

71. STETAT HHAM Ffcn 18 o7 A TR SO 12 9IS | o ST Shemsgan see?

(A) 15 RS (B) 9 dmfe
(C) 6 wTfe (D) 3 |
71. TF IS A G618 T TR T SR Fye 1 emem 12 e B fys A S et
(A) 15 T8 (B) 9 THTE
(C) 63T (D) 3 3T

(&35S
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72. The Roman numeral for the decimal number 59 is
(A) CIX (B) DIX
(C) LIX (D) MIX

72. WINE A 599 A @I AT (2R
(A) CIX (B) DIX
(C) LIX (D) MIX

72. TR AL 59-9F (@I FRAPPF 2
(A) CIX (B) DIX
(C) LIX (D) MIX

72. ek AT 597 WH =fSHRE
(A) CIX (B) DIX
(C) LIX (D) MIX

72. TUEAS &A1 59 % o Yo 37 @
(A) CIX (B) DIX
(C) LIX (D) MIX

73. A sum of 90 is distributed amongst A, B and C in such a way that A gets ¥ 2 more
than B and B gets T2 more than C. The share of A is

(A) T28 (B) 30
(C) ¥32 (D) ¢34
73. A, B 9F C3 I&@ 90 vd @ofe Wl 27 qe AR B ©(F €2 @R IF BA C 9(F
T2 @A™ AT A% IR (2
(A) 28 (B) 30
(C) ¥32 (D) ¢34
73. 90 A, B &3k C-9F W& NTOIA 3% F41 281 @ A, B (AF T2 @M *I" @R B, C (AF
T2 @M o1 A-9F o 79
(A) T28 (B) ¥30
(C) ¥32 (D) T34
Ofglel0

%
/2 /Paper-11/ A 45 il [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247)

73. T0E A, B I CT TowE siiemfs wam SmEl, A B fgg €2 M Oeel o Baw
C frgz ¢ 2 =ifem wiet| AT smemmen
(A) T28 (B) ¥30
(C) ¥32 (D) T34

73. T90 F UM A, B 3 C & &= 30 TR faaf@ i 91t 8 fF A 1 B @ §2 1ferss firera € oiR
B C ¥ F2 iferes firead 81 A 1 femn @
(A) T28 (B) ¥30
(C) ¥32 (D) T34

74. The sum of the prime numbers between 1 and 20 is
(A) 77 (B) 81
(C) 85 (D) 89

74. 1 IF 207 e S{HS (NeF TMRACIEE QN5 (207
(A) 77 (B) 81
(C) 85 (D) 89

74. 1 @R 20-7 ¢ AF (NerF ALANBfoTF (Io=Fe] 261

(A) 77 (B) 81

(C) 85 (D) 89
74. 1 3 201 TSAE UHEE VT SHSTHIGRA STSTsrTa=T

(A) 77 (B) 81

(C) 85 (D) 89
74. 1 31 20 % = Il 39T G FH AN B

A) 77 (B) 81

(C) 85 (D) 89

75. The quotient part, when 6001 is divided by 3, is
(A) 200 (B) 201
(C) 2000 (D) 2001

75. 60013 30T 239 TR 2% SloFe] W] (2"
(A) 200 (B) 201
(C) 2000 (D) 2001
E32E
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75. 6001¢F 3 =l Ol T 26T ©laRFe] KT 20
(A) 200 (B) 201
(C) 2000 (D) 2001
75. 6001@ 31 TArea, faft Tmeen
(A) 200 (B) 201
(C) 2000 (D) 2001
75. S 6001 i 3 @ fowrira foran Stan 8, a vTeet g @
(A) 200 (B) 201
(C) 2000 (D) 2001
76. The value of X2X3X4X5 4
1+2+3+4+5
(A) S (B) 6
(C) 7 (D) 8
I1Xx2x3%x4x%x5
76.
1+2+3+4+5§ﬂmtﬁﬁ
(A) 5 (B) 6
€ 7 (D) 8
1x2x3%x4x%x5
. -3
6 1+2+3+4+5 A =
(A) S (B) 6
(C) 7 (D) 8
76.1x2x3x4x5
1+2+3+4+5
(A) 5 (B) 6
€ 7 (D) 8
76.1XQX3X4X53ﬂHH%
1+2+3+4+5
(A) S (B) 6
(C) 7 (D) 8
(=135 =]
5
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77. A person buys a defective item at ¥900, repairs it for ¥ 100 and sells the item at
¥ 1,800. His profit percentage is

(A) 100% (B) 80%
(C) 90% (D) 180%

77. gu I G5 @H7ef AT T900® @ S, T 100 TS FEINFS FEE WIE AT
¥ 1,800 & ¢ | (967 =g @i (27

(A) 100% (B) 80%
(C) 90% (D) 180%

77. 9% e G @oye AN TI00e T T, T 1007 G (e Fed <R T 1,80009
AN [ e | Ok wced * ol 2

(A) 100% (B) 80%
(C) 90% (D) 180%
77. W@ AHGE G MRSHE SeEdl €900/ arAE € 100/ B BeE | o Sered! i 3 e
¥ 1,800 wHfaT | fafs gemes Sirararet
(A) 100% (B) 80%
(C) 90% (D) 180%
77. Th AfGd Tk WG &g €900 H WA g, 3Tkl F0Hd €100 § &al @ IR 39 a&g Hl
1,800 § ST 2| 36T T fewrd 2
(A) 100% (B) 80%
(C) 90% (D) 180%

78. The sum of §+Z equals

‘) < ®)

N W

(€) (D) 1

wlu
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78. §+2< e (202
" ® 5
(€) 2 (D) 1
78. §+2—aa 1o 2
) ® 5
(€) 2 (D) 1
78. i+2ﬁw@mw
" ®) -
(€) 2 (D) 1
78. ?2 1 2 &
= ®
© 2 D) 1

79. Which of the following is not equivalent to 0-000014?

(A) 1-4x107° (B) 1-4x107°

(C) 14x107° (D) 0-14x107*

79. FRFEIRS (SRS 0-0000147 Fagey 72w ?

(A) 1-4x107°° (B) 1-4x107°

(C) 14x10°° (D) 0-14x107*
EIE3SE

%
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79. RS @D 0-000014-937 FgeN 77 2

GET IT ON
Google Play

(A) 1-4x107° (B) 1-4x107°
(C) 14x107°° (D) 0-14x107*
79. TEMEM F==1 0-000014F ToH =17
(A) 1-4x107° (B) 1-4x107°
(C) 14x107° (D) 0-14x107*
79. Trafafaa & & #F-81 0:000014 F TR T& 87
(A) 1-4x10°° (B) 1-4x107°
(C) 14x107° (D) 0-14x107*
80. What must be added to (a—hb)? in order to get (a+ b)%?
(A) 2ab (B) —2ab
(C) 4ab (D) —4ab
80. (a+ b)? ?IRCH (a— b)%T CICe fF @9l S =7fa 2
(A) 2ab (B) —2ab
(C) 4ab (D) —4ab
80. (a— b)*-93 I I @ FAC (a+ b)? NS A 2
(A) 2ab (B) —2ab
(C) 4ab (D) —4ab
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80. (a— b)? S HIE TSI (a+ b) 2Tl AT RI?
(A) 2ab (B) —2ab
(C) 4ab (D) —4ab
80. (a+ b)? U & & TIT (a— b)? T w1 ST BMY
(A) 2ab (B) —2ab
(C) 4ab (D) —4ab
81. l+1+l is equal to
2 3 4
12 13
(A) 13 (B) 24
13 24
(©) 12 (D) 13
1 1 1
81. §+§+Z§WZ§C§
12 13
(A) 3 (B) By
13 24
(®) D) (D) 13
1 1 1
81. 54‘54‘*‘@? CI5=FeT 297
12 13
(A) 3 (B) 24
13 24
(€ 12 (D) 13
1 1 1
81. —+—+— [ SR S
2 3 4
12 13
(A) 3 (B) 24
13 24
(®) 12 (D) 13
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81.€ﬁ1T1+1+1W%

2 3 4

12 13
A) — B) —
(A) 13 B) 24

13 24
c = D) =~
(& D (D) 13

82. The length of one diagonal of a rectangle is 5 cm. If the ratio of the length and
breadth of the rectangle is 4:3, then the perimeter of the rectangle is

(A) 25 cm (B) 14 cm
(C) 12 cm (D) 16 cm

82. 9B TIRSCHAT <O 1 O (2= 5 (5.l | A ASCHAGH TN AF 2w S 4:3 =W,
(8 SRSCHACO A5 27
(A) 25 (.1 (B) 14 (5.1
(C) 12 .J. (D) 16 ¢5.1.

82. T WROCTHEA b T ey 5 ELE. | A SRECHAL O 8 AT AN 4:3 =W,

@ SROCFA AR 2
A) 25 Gif. (B) 14 &if.
(C) 12 @if. (D) 16 Gi.f.

82. WM AN EARME "HEA 5 w.fi. | gt o AR o swemsf wgumn 4:3, 9 At

arffe R s@?
(A) 25 9.fi. (B) 14 u.fa.
(C) 12 u.fu. (D) 16 @.fa.
82. T A o Tk kvl &l @as 5 Ho Hio 7| AR A hl TaTg R =l 1 @ 4:3 ¢,
ST 1 GRET g
(A) 25 "o Hio (B) 14 To Hio
(C) 12 "o Hio (D) 16 "o Hio

e
%
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83. 10 coins, each having circular surface area of 24 cm? and thickness of 2 mm, are
stacked one over the other. The volume occupied by the stack is

(A) 48 cm?® (B) 480 cm?
(C) 240 cm?® (D) 42 cm?®
83. JUP[ “FI 24 o 5.1, W 2 F.{. @@ 1067 W G6R ST BT T2 bl F7 7B
T2 | BB G F1 SRS 2o
A) 48 .f1.3 (B) 480 ¢5.f.3
(C) 240 .f.3 (D) 42 ¢.;:.3

83. 24 7o CLN. JOFR P FaFa @R 2 WF. gero-[MHE 10 w9t w#ics T9 g
Q41 24 | A AR 4P ZICT Hoere] 25

(A) 48 ¢1.fN.3 (B) 480 ¢1.f.3
(C) 240 @13 (D) 42 @1.I.3

83. 24 U.M.2 @Al foig eamsiyr R 2 W.f. Tsnam T+ 79 10 TEERERE! SEEH™ SEi |

o @A USRI 58 ST ?
(A) 48 @.fa.3 (B) 480 u.f7.3
(C) 240 u.fa.3 (D) 42 @.fu.3

83. 10 &, T® &l MeTHR g 24 Ho Ho? g IR HeR 2 fHo Ho 8, TH-T & TN T R &
w9 T @ T E | @ FRT ERT T T &

(A) 48 To Hio3 (B) 480 Ho Hio3
(C) 240 o Hro3 (D) 42 To Hio3

84. If one of the angles of a right-angled triangle is 35°, then which of the following
represents an angle of the triangle?

(A) 40° (B) 45°
(C) 50° (D) 55°

o [N N

84. (I &F A1 fUged bl (F9F I 35° 2'¢e, afee @ R fqeainr =w bl

IR T Togee 9 2
(A) 40° (B) 45°
(C) 50° (D) 55°
OFe0
i
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84. @3 A fagrem @3B @9 35° =@, qva @R [RFEh Ggeta @ @@ @I

TorEIo FCF 2
(A) 40° (B) 45°
(C) 50° (D) 55°

84. TWFH AT AT WA THRT 35° ST, MREE &3 i 3 q8sE a1 S ?

(A) 40° (B) 45°
(C) 50° (D) 55°
84. Ift UH THa Bge #1 UH wW 35° g, A fAffad ¥ @ @F-w 38 Gys %t & o
It 27
(A) 40° (B) 45°
(C) 50° (D) 55°

85. The angle traversed by the hour hand of a clock during a period of 2 hours is
(A) 30° (B) 45°
(C) 60° (D) 90°

85. bl YOIF UG FIBICICE 2 MBI W© Sfowmy T (FIIF N+ (202
(A) 30° (B) 45°
(C) 60° (D) 90°

85. 2 Y% SHAFICE G0 Tq DI FI6R TN WOGT F1 (FIel 251
(A) 30° (B) 45°
(C) 60° (D) 90°
85. T TN B FAT el 2 IEERHT G SHa] ST G SEeT ¢
(A) 30° (B) 45°
(C) 60° (D) 90°
85. 2 = I 7afy & SR =t i = I gE g a7 oA T or B
(A) 30° (B) 45°
(C) 60° (D) 90°

e
%
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86. I saw an ice cube in the kitchen which had already melted due to heat of a nearby

burner.
(A) Rarely possible (B) Often possible
(C) Impossible (D) Always possible

86. 3 JFTTS AT €bC Tel7fe Bfowcy olfel (@I Gbl I 531 (R |
(A) e (2 e (B) ey 18

(C) =PiEd (D) “Wica %<

86. W A G0 IACTFH Tolp CreRen™ 1 Bfouce Flerd pier wice sicat falcafes |
(A) IR 3B (B) 2R 3&A

(C) =P (D) &l 8

86. 311 EM W TATE IWEEH IS TfeAddl GHME b @1 HE Jai |
(A) TTEATETE ST g (B) TSR TSR SEYTE
(C) TTsATSTE ST g (D) T S &=

86. T TS H T dth I ohel 9@ Sl UTH o oL h! TTHT o ShI0T fUeret gent o |

(A) TAY &9 G 99T (B) 3T Hd
(C) T|va (D) EHIM va
87. If ‘X’ means subtraction, ‘-’ means addition, +’ means division and ‘+’ means

multiplication, then which of the following statements is correct if calculated from
left to right, ignoring BODMAS?

(A) 8x2+5+3=12 (B) 7-2+3+5=13

(C) 5-4x3+2=3 (D) 3+2-4+5=9
E23E
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87. AW 9 Y [, 9 5 @, 4+ 9Y 279 WF +’9 9 999 2, AF I BODMAST
TR SIS I ST 21 GRS S 91 2, (908 TR (Sl 9 8 A5

2'q7?
(A) 8x2+5+3=12 (B) 7-2+3+5=13
(C) 5-4x3+2=3 (D) 3+2-4+5=9

87. M X’ [ @RI, ‘— @5l @R, 4’ ©l5 (@R GR =’ Qo (@A GR IW BODMAS-¢J
T TCorHl AN (AT O S T 2, O A (F [RIRSH 7195 2

(A) 8x2+5+3=12 (B) 7-2+3+5=13
(C) 5-4x3+2=3 (D) 3+2-4+5=9
87. §fc '3 TE@ AW, ‘A IETEHME, 4737 TR AW 37 THSEHE o, sl
BODMASHE! SafHT SRR AETY fedme aramiee MeRt o« fogfem oamw?
(A) 8x2+5+3=12 (B) 7-2+3+5=13
(C) 5-4x3+2=3 (D) 3+2-4+5=9

87. AR < 1 1 W@ 7, ‘= H A A T, + H A fAASH B M <+’ @ 7 WM 7, @
BODMAS & =1 & TSR3 id §¢ a8 ¥ a8 &l 3 M1 o | Fefafaa 9 9 aa-H

rfirsafes aet 27
(A) 8x2+5+3=12 (B) 7-2+3+5=13
(C) 5-4x3+2=3 (D) 3+2-4+5=9

88. Bacteria : Microscope :: Planets : ?
(A) Telescope (B) Periscope

(C) Bioscope (D) Stethoscope

88. @A : W2&H T A2 : ?
(A) Oz (B) colfRcmel

(C) ITH (D) BT
33N

B
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88.

88.

88.

TIPCHEA : R A2 : 2

(A) CoferczA (B) coifscz
(C) A (D) CHeacEl
IEELIRRC Gk = P F

(A) 2fcT=h T (B) Uf&h®
(C) smEwT (D) VI'wHq

SFATET : AEHIERT 1 T : ?
(A) fer=pm (B) ufw=pm
(C) STTEhY (D) e

89.

89.

The same six-sided dice is rolled four times, and the outcomes are as shown below.
How many dots are there opposite to three-dot face?

€ 5 (D) 1

(A) 4

w-pge qual «b v wEER e weweryz e ffae (e wd |l o |
[eafbor fof-fRme 7 e e feeb v = ?

(€) 5 (D) 1

(A) 4

Ez3NE

B
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89. I RI-FOFY S AP DIFAI (Fell 2 R Fenolfor Movd bea reicel = | fom -y 2

ojeoR RoAe #0d T [y =z 2
A) 4 (B) 2
(C€) 5 (D) 1

89. T T HIG MHI IEHE! WAg ME™ SR 3 fof fharerre grermieme fefsmm sem) orem

BIYTTHT G ol Hiert Hlom &7
A) 4 (B) 2
(€) 5 (D) 1

89. TF BE-Haleh dlcl U &I TR IR FHMT T, AR Romm = fe@m muosger 71 9 g

e ¥ Fa e g 37
A) 4 (B) 2
(©) 5 (D) 1

90. Select the appropriate set for correctly filling up the ‘?’ :

BAD : ? :: PINK : QJOL

(A) HAD (B) CBE
(C) CAD (D) ABE

90. “?’ ToChl MIFSIE 77 SR TR (ANGCH! o T |

BAD : ? :: PINK : QJOL

(A) HAD (B) CBE

(C) CAD (D) ABE
ESE
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90. ‘?’ {52(b FFCI 779 T &) TS @l f#=fioe] Tt |

BAD : ? :: PINK : QJOL

(A) HAD (B) CBE

(C) CAD (D) ABE

90. ?'@l g WA ANSNIE Y@l 99 |

BAD : ? :: PINK : QJOL

(A) HAD (B) CBE

(C) CAD (D) ABE

90. ?’ I TEl &1 ¥ WA & I IuYh A 1 = L |

BAD : ? :: PINK : QJOL

(A) HAD (B) CBE

(C) CAD (D) ABE

91. Time by her watch when Neeta left home was 9:43 in the morning. When she

arrived home, the watch showed the time as 11:55. How many minutes was Neeta
travelling for?

(A) 72 minutes (B) 128 minutes

(C) 122 minutes (D) 132 minutes

91. 9 TN9 *[{ SoNR (N RO ©RF qOr© TR Hifes qAO7= 9:43 I | ©R w9 q9 W

IS e o

(oI SRS TOICOIEE 11:55 &1 (wyiefest | otz e s /e s arar sfifest 2
A) 72 G (B) 128 ffelb
(C) 122 ffB (D) 132 ffelb
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91. %l T4 AT (AF (I 2 947 OF 9fCe T FFE 9:43. I3 (7 AT fpeafee, afeh wm
11:55 (4 | el T Wb &0 T Feafe 2

() 72 ffe (B) 128 fifels
(C) 122 fifH (D) 132 fifi

91. ANEM @A wuE Ay afEme B 9:43 o SEmmH | Ssan e T wgE e e
11:55 fom f&f=m | famn sge fafe smfmar?

(A) 72 fufe (B) 128 fifwe
(C) 122 fufe (D) 132 faf¥e
91. S&@ i1 = ¥ kel a1 3uh! 91 § GAE % 9:43 I U| A I8 W WA Al HE W 11:55 H
o fo@ @t o) i 3 o fime 6 e i
(a) 72 fore (B) 128 fime
(C) 122 fime (D) 132 fire

92. Identify the correct Roman numeral.
(A) Thousand : C (B) Hundred : C

(C) Fifty : C (D) Ten : C

92, WG (@M MO FoerE 9 |
(A) TES : C (B) % :C

(C) #I%M : C D) w2 : C

92. % NI MAPPHS BiEe T |
(A) e : C B) e : C

(C) =™ : C (D) W : C
OO0
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92. s WH T fFHmE |
(A) IS : C (B) S : C

(C) = : C (D) ™ : C

92. U YA 37 UgaH |
(A) TR : C (B) & : C

(C) =@ : C (D) & : C

93. My digital watch says 6:15 p.m. now, and the bus will leave in next 145 minutes.
At what time will the bus depart?

(A) Forty minutes past eight in the evening
(B) Forty minutes past eight in the morning
(C) Forty-eight minutes past six in the evening

(D) Forty-eight minutes past six in the morning

93. ([ ffechel qeicore il 6:15 p.m. IFT (TYAR B2, AF 77T 145 WG A= 2=
3 | 105 P e A 2@ 99 2

(A) R =T Afer Bfet Wit
(B) qifovpa o Aife: ofem it
(C) e =7 A1 wrosfer ffive

(D) o7l =x Afer wonfer MG
Er3SE
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93. INF fSfEhE 9% @3 ¥ I8 6:15 p.m. @R IM 145 NG [ 2%@ 97 | 0D F99
AR 9K ?

(A) Tl SO0l (@ce Sfard WG
(B) & 06! (qce Sfar G
(C) T =0T (@Ce SNosEr D
(D) T RAO! (@CS oo W1

93. 34 fefsea afen gwar o gmfafafd 6:15 RfSEl om0 s 145 fufe 9@ @rm=) @ s9
NUIRICRCITUILES

(A) THTETAt ared fom ofs fafea
(B) B area fom sfy fafera
(C) Wttt g fom st grea fafiera
(D) % g fom 9 arm fufrera
93. Aft fefitea =t a1ft 6:15 p.m. 51 W 2, 3 37 145 e & o9 @ 2rft| 5@ foham s
IRETNRIK
(A) T ATS TR AT e T
(B) T 33 SeiRt ATehid e W
(C) M BE I AT e W
(D) GIE B I FSAT™ e T

94. Identify the word not of the same group.
(A) Launch
(B) Breakfast
(C) Dinner

(D) Supper
OO0
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94, T (SlG® qALF *Aol DIrE 59 |

94.

94.

(A) Launch
(B) Breakfast
(C) Dinner

(D) Supper

GFE (aMBIaTe T qX XA BfErs e |
(A) Launch

(B) Breakfast

(C) Dinner

(D) Supper

RS B S GG gl aean?
(A) Launch

(B) Breakfast

(C) Dinner

(D) Supper

94. 3 & Hl TG Sl T & G Hl & 2

(A) Launch
(B) Breakfast
(C) Dinner

(D) Supper

GET IT ON
Google Play

95.

Identify the pair of words which follows the same rule as Mercury : Planet.

(A) Horse : Stable

(C) Atlantic : Saltwater

/2 /Paper-11/ A

(B) Milk : White

(D) Copper : Metal
[=] 3% ]
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95. I : J2-T M AT I SePRe T Xwq @R e F9 |
(A) G+ ST (B) I : <ol
(C) WGeTib= : ST i (D) N : €9

95. 4 : 27-9F (O G o SEPE T M (Olh iere e |
(A) SPY : SR (B) w4 : A

(C) BT + T &t (D) O : 419

95. TEMAE B 99 ST |t g4 : 78 7 e wifEe
(A) THIE : T (B) TEWR :
(C) 3meenfe : ufg ¢ (D) AT : o7

95. Y&l % 3 SIS H UedM S g4 : UT o THM &0 T Ire Lt 2|

(A) 37T : A (B) 39 : 9%ha

(C) 3TeAEH : IS (D) el : 91g

96. Which of the following words is not a subset of PANDEMIC?
(A) CAN (B) RAIN

(C) MEND (D) DAMN

96. EIR@ (I *97 PANDEMICS T#[¢oG «&s 2
(A) CAN (B) RAIN

(C) MEND (D) DAMN

96. o7 (@I *6 PANDEMIC-9q Topeafes om 2
(A) CAN (B) RAIN

(C) MEND (D) DAMN
ESE
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96. TR T« Hielem PANDEMICH @er™ S T&17?
(A) CAN (B) RAIN

(C) MEND (D) DAMN

96. FHfafad # ¥ ®H-81 58 PANDEMIC % 3T6g=% &t &7
(A) CAN (B) RAIN

(C) MEND (D) DAMN

97. In Pellamy, their words for blue, green, black and red colours are green, black, red
and blue respectively. At sunset time in Pellamy, what would you say the colour of
the sun is?

(A) Blue (B) Red
(C) Green (D) Black
97. (I FCFC SEPIE e, CIO&HRI, 33 WF 98] 799 2ffiidy Fq1 <P FNEE CIoen,
91, T8I S Al | T AN AP T A IR T9CBT 6 Jfet 77 =iforq 2
(A) e (B) <@l
(C) cTegm (D) <=1l
97. (NN LTS <o, T, PG GIR T ACe &) OICHR * IAGCH IS, FICEI, oo 3R TIed |
CAAeTIRICS Sl ST ST ] {6 98 <@ 2
(A) T (B) =T

(€) = (D) et

97. UTHATE 3T@NTE, M, MEW A TS Terdl NG M, TEmE, TS 3T ST@re e |

TATfefer THTE UATHRTE | & |77 ST ?
(A) STETTE (B) TSI
(C) Tmert (D) T

Ez3NE

B
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GET IT ON
Google Play

97. Uit g # i, &, Hel A A TN fI0 396 weg FAM: &, Hied, oAl 3 A 21 €

Y e 3w i g ¥ €1 A o
(A) e (B) @

(C) = (D) ehTett

98.

98.

Statements :
All windows are floors.
No floor is tall.

Conclusions :

1. Some windows are tall.

2. No tall is floor.

Select the correct option.

(A) Only conclusion 1 follows
(B) Only conclusion 2 follows
(C) Either conclusion 1 or conclusion 2 follows

(D) Neither conclusion 1 nor conclusion 2 follows

faqfs
spceT FAfAFIcER SIS |
(PIC e @ =727 |

&S
1. fogae RIS e

2. (I €4 qfew 12y |
Ao Al oo << |

(A) &< Prag 1S Toere 279 o9
(B) &3 Prarg 2 © Tie 2'3 #1fF
(C) Pram 1 =131 Fram 23 @ 9ol Frass Toee 23 =17

(D) % 1 ¢ Pra® 23 @I Pramees Soee 2'7 (eI«
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98. fqfe :
I SR G |
CPFICT! (AR o151 o7 |
s
1. g et o7 |
2. (PG STHR (A 7 |
Ao e v T |
(A) BYHIE P8 1 SepRel
(B) wyu@ Framg 2 SepiEel Feq
(C) = Prai® 1 91 Prarg 2 SFpie e
(D) Fram® 1 93t ﬁ%l@Q@w&Qq.ﬁgqmm
98. HREEGR :
T Refgwie gemE |
Hi@a! grere St AT
EIELINEE
1. wraE fefawr mst |
2. HHEYUS! MSET e TS|
e foeret grrg’ |
(A) 1 SEARETA HIHSTTE /TR
(B) 2 SEURTET @ IS /T
(C) 1 s 2 T3 TSR wHEaTE Hqifrsiee /T
(D) 1 THT 2 WHAMST T Aws AT /AT et

98. HUd

avft Raeferat, wef §1

1% el a1 A6 B

faen

1. 3 Raefwar S 81

2. I3 Fa w2

Tl forepe =+ |

(A) Haa freed 1 Feperar @

(B) haa fehd 2 feperar @

(C) 1A 2T ¥ HE UHh fswy feperar 2
(D) 19 2% @ e ot Frepd & Feperan @

35
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99. If someone points at you and tells that you are the brother of the daughter of the
person’s husband’s wife, then how are you related to that person?

(A) Uncle (B) Father
(C) Son (D) Brother

99. IM (PG QORF TGCH ST SEpRE T @ W[ R TSO[FT FNG [ P
Y, (SC8 (13 FFSIATF (100 SR g7 6 272

(A) @l (B) fre
(C) @ (D) °I9

99. (FT IM @R T 3re I IR A& @ el G2 I TN T (@ O, O=E G

G ALY SAE T=o:F F 2
(A) I (B) [l
(C) c=eet (D) ©f2

99. Jft @ g1 A oiflga getean, Fi o fhaef fofafy framsnf foer/wenz| stean A o

Sl | AHE! ST
(A) o2 (B) Tt
(C) foamen (D) forer/ g
99, IfT g MYH! AR AR Tk hadl & o 3T 3G A o Uid bl ol shl ot o 9TE &, I AT
39 =Afth ¥ 1 WY 27
(A) == (B) o
(C) == (D) = (+IT8)

100. What would come in the middle when the digits of the number 4358796 are

reversed?
(A) 7 B) 8
(C) 9 (D) 5

100. 4358796 FRACON LH(HIG! SCEGICE BIRICE GINIEE SeFeol F 2792
(A) 7 (B) 8

€ 9 (D) 5
Ez3NE
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100. 4358796 F6d W sfecs [oRre s (AcF foreet Teaa =it Fi 263 2
A) 7 (B) 8
< 9 D) 5

100. 4358796 IHNHIN AHSHIERE! 3T B felise sd gHHRET ToE ST ?
(A) 7 (B) 8
€) 9 (D) 5

100. &A1 4358796 % 3Th bl IcAed W = H SHH-G1 3Tk T ?
A) 7 (B) 8
) 9 (D) 5

101. Suraj took one-third of a birthday cake. Half of the remaining part was taken by
Chanda, leaving the leftover for Tara. How much of the cake did Tara get?

(A) One-fourth (B) One-fifth
(C) One-third (D) One-sixth

101. A0S S (FF GBIF GP-PRIR* &'C3 | P! SXF S ©lal HHI (o1 TS BR¥ ©qIq IS
G 2T | ITAE (FHDN PR S I} Sl e 2

(A) @F-TgRie (B) -7l
(C) «=-gormI (D) -]

101. EHicTa (e oo ©es @ s e ST | 16 SRe ool = e SaiE e O e
(Y O | O (FFOT F© A CeACAfRe ?

(A) @F-TgRe (B) G-I
(C) «F-gomIRH (D) “F-THIR

101. & SIHMEEHM b 1/3 SREE ARl STE SHEHEE I<™ @Ed dHH SRRt
TRAT ST | TR hebi~ ST STERT HE?

(A) 1/4 (B) 1/5

(€) 1/3 (D) 1/6
EELNE
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101. IS A SFHIG o heh o1 Th-Taels foedt foram| o Wi # & amen fewan ==a1 4 o fomn oiR 2w am
o T Bre faom | It it ek a1 fora fewa fore?

(A) TH-=eg (B) TH-Hi=al
(C) um-faer (D) TH-Tal

102. If POND is coded as ONMC, then how will LAKE be coded?
(A) MBLF (B) EKAL
(C) PELA (D) KZJdD

102. I PONDSF ONMC RHCSE 614l 24, (8 LAKES (I FR(FCocq o1l 2'9 2
(A) MBLF (B) EKAL
(C) PELA (D) KZJD

102. 3 POND(F ONMC FF© @il Jfb® Sl 2, O LAKE(S (I 7T @11 fo® F1 A 2
(A) MBLF (B) EKAL
(C) PELA (D) KZJD

102. PONDM %el ONMC SiEisell LAKE@! Hisl s @TeATa i ?
(A) MBLF (B) EKAL
(C) PELA (D) KZJD

102. af¥ POND % ONMC @hd & FR gfod forem Smar 2, df LAKE @ fha Geha & gfwa foran

STa?
(A) MBLF (B) EKAL
(C) PELA (D) KZJD

103. Identify the incorrectly spelt word.
(A) INCORRECT (B) INGENE
(C) INSOLVENT (D) INTROVERT
OO0
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103. I ST A *JACH! HorE F95 |

(A) INCORRECT (B) INGENE
(C) INSOLVENT (D) INTROVERT

103. % IFARS *[AM XIS Fe |

(A) INCORRECT (B) INGENE

(C) INSOLVENT (D) INTROVERT
103. TR T ieeE! )

(A) INCORRECT (B) INGENE

(C) INSOLVENT (D) INTROVERT
103. TeId Sd-l STl ITe8 hi g

(A) INCORRECT (B) INGENE

(C) INSOLVENT (D) INTROVERT

104. Identify the item essential for meal.
(A) Plate (B) Invitation
(C) Table (D) Food

104. WZR{S I AR 2Co! Dre F95 |

(A) 21 (B) iz
(C) &= (D) ¥
104. SZEE S TSR 2o Hire e |
(A) <t (B) ferage
(C) fs (D) <
104. AERM JrEm™ U gara! faam |
(A) ol (B) TETA™
(C) @mm (D) ST 5 /@

104. 9ISH & foTu sTmewes awg i Te= Hi |
(A) et (B) fawm
(C) o (D) s AT

(=135 s]
2
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105.

105.

105.

105.

10S5.

BECD : GJHI :: ?
(A) PSQR : TWUV (B) MNPO : QRTS

(C) ADBC : FIGH (D) CBDA : HGIP

BECD : GJHI :: ?
(A) PSQR : TWUV (B) MNPO : QRTS

(C) ADBC : FIGH (D) CBDA : HGIP

BECD : GJHI :: ?
(A) PSQR : TWUV (B) MNPO : QRTS

(C) ADBC : FIGH (D) CBDA : HGIP

BECD : GJHI :: ?
(A) PSQR : TWUV (B) MNPO : QRTS

(C) ADBC : FIGH (D) CBDA : HGIP

BECD : GJHI :: ?
(A) PSQR : TWUV (B) MNPO : QRTS
(C) ADBC : FIGH (D) CBDA : HGIP

106.

106.

The length and breadth of a room are 8 meters and 6 meters respectively. Tom runs
along all the four walls and finally along a diagonal in order to catch Jerry. How
much total distance is covered by Tom?

(A) 38 meters (B) 10 meters

(C) 14 meters (D) 28 meters

G5l (FIOR 7 W AF G 8 N WE 6 fbR | 5y (Td1F 4f[{AH (FION6R SIS (e
FACE A SEEES G5l 6 e (71 20 | Bex 7920 [F19 yag wifeay e 2

(A) 38 fioR (B) 10 fo=™

(C) 14 for= (D) 28 5[
Er3SE
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106. 31 T 7K © 2% FAGew 8 TNoR € 6 O | 53 SR (e (M (ToR «3R SR (SR
R & 9B o T BC6 A | BN ([ T 1Y SO B ?
(A) 38 fibm™ (B) 10 fi5E
(C) 14 fio™ (D) 28 fioE

106. THE WATH @A AW WA BT 8 iReR 3 6 fier| o @y arfifs s @ a @
ST RIS 207 SifEt g6 g | 28T M o ST W ?
(A) 38 firr (B) 10 firRr
(C) 14 fier (D) 28 fier

106. TF FW FI a8 IR ASE HAM: 8 Hiek 3N 6 HiR T| K I Tehed = foiw =i =i <ol ®
3R 37 H U foerel W drean 21 2 3 o fehat gt 7 e
(A) 38 Hiet (B) 10 Hiex
(C) 14 HixX (D) 28 e

107. Pradip has a brother Rajiv. Pradip is the son of Kunti. Upendra is Kunti’s father.
In terms of relationship, what is Rajiv of Upendra?

(A) Grandfather (B) Grandson
(C) Maternal uncle (D) Nephew
107. 27 &« g (202 TG | 27 $8E 7[@ | T¢m I P19 | =761 (Fqe GRS
2'q7?
A) I3 (B) wIf®
(C) T (D) <ifa
107. 2@ 9 O AER | 27 T8 (el | Term F@IA T | T iR (e A6 Seorma F
22
(A) ooz (B) =fs
(C) == (D) ®ie
107. vfeusr ufsa g foar/warg 1 ufw it e uegan gixf foawn sean afsen iz @
ST
(A) forst (B) Toriten
(C) feme (D) forme
107. WEI9 1 T 1§ TSE & | T&, el 1 G 2| 3Ug, Hal o6 fUar g1 fed o 9wt § T, 305 &
FTE?
(A) aTer (B) dran
(C) = (D) w=

Ez3NE
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108. What three digits would be in the middle of the result when the smallest possible
number is subtracted from the largest possible number created using all the digits

of 49723?
(A) 739 (B) 389
(C) 954 (D) 395

108. 49723 MBI SBIRCIT ST (R P« G139 791 GRS TIeq ARG 791 SBIRSCF 7
SRAMCH! R0 S (T FAFECR o] ool =F & 2772

(A) 739 (B) 389
(C) 954 (D) 395

108. 49723 MM 2COF(b SRF T2 P (O I MBI J2S TR (AT TSI FUoH R
%za 9] FICET AT FETRFCETS WIAYCIS IT‘MTTJ NI %[ 29 ?

(A) 739 (B) 389
(C) 954 (D) 395
108. 49723376 IHM el THNSHTGRE! THH AR SERgsel e SANHIHEE safRgega
i FAfSmE gE T A A gFem TSR e 91 sme?
(A) 739 (B) 389
(C) 954 (D) 395
108. 5@ 49723 & Tt 3kl 1 TN Heh SIS T3 ol TS GUIfd T H & a9 Bl gofad
AT T2 € Al g, 1 GO o offe § RF-Y 1 37 arl?
(A) 739 (B) 389
(C) 954 (D) 395

109. Find the odd one out.
(A) Kilometer (B) Hectometer

(C) Decimeter (D) Perimeter

[aNENaYESTaN

109. & *[77co! [oifE Tlermnes |
INBRZSIEIR] (B) ZCIINGR
(C) cefoR (D) cAfRfoR

(=135 s]
2
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109. wf¥e *<fb Yo& (79 PPl |

(A) fFeeTfor (B) MO

(C) cePifDE (D) ¢ofEfo™
109. @l fagH |

(A) fohet firere (B) ¥'few

(C) <Raftrer (D) ufifier

109. 3TETd Yee i g |
(A) T (B) TR
(C) SHz (D) uferex

110. Identify the pair which is not similar to others.
(A) Football : Goals (B) Cricket : Runs

(C) Table Tennis : Score (D) Volleyball : Points

110. S1 (Ce ¥ T @R oore 79 |
(A) Fo : o’ (B) &0 : a9
(C) (GFFhfE : 7 (D) ST : o3 %

110. 939 (&Il ofee a3 @b o= (FrersfeR 10 33 59 7 |
(A) FOIE @ (T (B) &0 : qM

(C) GR@ GFF : @[ (D) Sfe# : D
OfEID|
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110. TEFEH & ST [IAHR d@f TS|
(A) P& : A (B) ferehe : T
(C) a9« a4 : TR (D) ¥feieet : 9g=ed

110. 38 SNl il T X, S gl & a0 TE 2|
(A) Feard : M (B) fshehe : &
(C) 2o 24 : TR (D) afciiaia : 3T

111. What is the minimum number of straight lines required to draw the following

figure?
(A) 16 B) 14
C) 11 (D) 12

111. 2 A S5 FIECeT Jerod [Pl AT IS (2R 2

(A) 16 (B) 14
(C) 11 (D) 12

111. zwe oAb SF FICS Poaow FAb AT S 2

(A) 16 (B) 14

(C) 11 (D) 12
35
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111, HEEETE B9 Aet@l S THRATS o8 o gral A ¢

111. @ 7S TR I I & TI0 Aewaes Hiefl T@nei it =Jdad g fha 87

(A) 16 (B) 14

(C) 11 (D) 12

(A) 16 (B) 14

(C) 11 (D) 12

GET IT ON
Google Play

112.

112.

What would come next in the following series?

AN, CP, ER, ?

(A) GT (B) FS

(C) GS (D) FT

O W[GEICOIS AR 2ol [ wfEd 2

AN, CP, ER, ?

(A) GT (B) FS

(C) GS (D) FT
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112. T SREIMGCS #7791 *Mb F PR 2
AN, CP, ER, ?
(A) GT (B) FS

(C) GS (D) FT

112. AN, CP, ERfY 319 @1 %7
(A) GT (B) FS

(C) GS (D) FT

112. AN, CP, ER & &€ 1 310 ?
(A) GT (B) FS

(€C) GS (D) FT

113. Which set of letters would continue the following series?

MAD, NAE, OAF, PAG, ?

(A) QAE (B) RAH

(C) RAE (D) QAH
113. 2WE (FFCOI S4TT (9NCE $o HRIFICH! SSA3 ¢ I 2
MAD, NAE, OAF, PAG, ?

(A) QAE (B) RAH

(C) RAE (D) QAH

113. WA (I v1R2f e eeEnibes siferc e 2
MAD, NAE, OAF, PAG, ?
(A) QAE (B) RAH

(C) RAE (D) QAH
EyNE
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113.

113.

TEEH 59 B @l 451 B9 HI MAD, NAE, OAF, PAG T ST&TE AERT=?
(A) QAE (B) RAH

(C) RAE (D) QAH

5 T e W FHA-T WS MAD, NAE, OAF, PAG, ? S@dll &l S W
(A) QAE (B) RAH

(C) RAE (D) QAH

114.

114.

114.

114.

What would be the next in the following series?

144, 100, 64, 36, ?

(A) 25 (B) 49

(C) 81 (D) 16

O] XRUFNCOR ARe! ARATCHT fF 2792
144, 100, 64, 36, ?
(A) 25 (B) 49

(C) 81 (D) 16

A *[e@oa RS Wb F 27 2
144, 100, 64, 36, ?

(A) 25 (B) 49
(C) 81 (D) 16
e R BT 319 AT ST ?

144, 100, 64, 36, ?

(A) 25 (B) 49

(C) 81 (D) 16
OfI0
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114. 144, 100, 64, 36, ? S& H 3T F1 Y
(A) 25 (B) 49
(C) 81 (D) 16

115. What would fill the empty slot in the following series?
AAK, EYM, IWO, OUQ, USS

(A) P (B) R

€) O (D) T

115. SO/ XSO A1 4161l Zieco! fheacd <[ 9 2
AAK, EYM, IWO, OJUQ, USS

(A) P (B) R

—

(€) O (D)

115. o9 RIS A *FEFG FoT == o =9 2
AAK, EYM, IWO, JUQ, USS

(A) P (B) R

(C) O (D) T

115. e A& @ HISi 377g @I S ?
AAK, EYM, IWO, JUQ, USS
(A) P (B) R
(C) O (D) T

115. & 7 J@ar AAK, EYM, IWO, JUQ, USS | ik T &1 &1 siam'?
(A) P (B) R

(€) O (D) T
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116. Which of the following numbers is incorrect in Roman?

(A) Twenty-nine : XXVIIII (B) Fourteen : XIV
(C) Forty-eight : XLVIII (D) Twenty-one : XXI

116. RIS (G R F220 $ol (2 SR 2

(A) Tef@ : XXVIIII (B) 0o : XIV
(C) =MoBfER : XLVIII (D) @& : XXI

116. SICo9 (I R I e 2

(A) Tafee : XXVIIII (B) Om : XIV

(C) SOBEM : XLVIII (D) @ : XXI
116. TR e TH SRR TS M1 7

(A) I @ XXVIIII (B) sl : XIV

(C) ofS 35T : XLVIII (D) afs@ : XXI

116. UsH § f=fefaa @ 4 - 9o Tea 27

(A) IAE : XXVIII (B) =& : XIV
(C) Tearet™ : XLVIII (D) THE : XXI

117. Which of the following sequences would be meaningful for the given words?

1. Word 2. Paragraph 3. Sentence 4. Letter S. Phrase

A) 4,2,5,1,3 B) 4,1,5,2,3
€ 4, 1,5,3,2 (D) 4,1, 3,5, 2

117. R (FECE &9 @re X< el wevjof 279 2

1. *% 2. RN 3. I 4. 3of 5. I
(A) 4,2,5,1,3 B) 4,1,5,2,3
€ 4, 1,5, 3, 2 D) 4, 1, 3, 5, 2
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117. SI69 (Pl T 2A7e s G e 3¢ 2

1. *=% 2. SRR 3. I 4, 3of 5. RN
(A) 4,2,5,1,3 B) 4,1,5,2,3
<€) 4,1,5, 3, 2 D) 4, 1, 3, 5, 2

117. TEEM I« Gieie BT A AT ST ?

1. Hee 2. @A 3. S 4. g 5. oY1 @il

(A) 4,2,5,1,3 B) 4,1,5,2,3

€ 4, 1,5,3,2 (D) 4,1, 3,5, 2

117. F=fataa & @ s=-a1 % fou 7 wsei & fore e 27

1. 3se 2. W% 3. 9 4. I 5. 9
(A) 4,2,5,1, 3 (B) 4, 1, 5, 2, 3
(C) 4, 1, 5, 3, 2 (D) 4, 1, 3, 5, 2

118. Rani is facing East and turns towards her left. Then she stretches both of her
hands. Which direction is her left hand pointing to?

(A) West (B) East

(C) North (D) South

118. A 7@ Wi 9 PR AT gRer | TR PR ©F q@eE e @ W | gfen wiEg
SR (I freiCst (BiaiR weR 2

(A) 5y (B) 711

(C) Tedq (D) e
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118. qif #=fWwc 4 e W07 G- O OF A T (S G | SR G 19 2© 96 (e 40 | O
N 2 (I [ o T2 2

(A) =5 B)
(C) Tex (D) wEpel
118. T GHST A STHT o ATt fifegi| 9fF 3@ fomn mafy smers wrewiel wiemEr| ot
AR ST Feify fafomei?
(A) G (B) TSI
(C) W (D) EreraTst
118. THI U9 il 3R T7g@ ¢ IR 1ot arff R gedt 21 fR 97 o1+ aFi 21y Shent St =1 3Hen amt
T forer famm <t 1R 39 o <@ 27
(A) o B)
(C) W (D) aferr

119. Statements :
1. Rajib has a bruised knee.

2. Athletes very often get hurt at sports.

Which of the following can be inferred?

(A) 1 is the effect of 2 (B) 2 is the effect of 1
(C) 1 is independent of 2 (D) Specific conclusion is not possible
119. % ©

1. &I HgS SO 2R |

2. (YEILIARCE IR (YeTO QoL 27 |
fagformes 71 Faferfe (PIee! Seme i #I1f 2

(A) 1 (22 27 ZoR (B) 2 2z 19 Ze[

(C) 1, 23 7}l o7 (D) Mg Pram ssa =8
335
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119. [3fs :
1. TIEIES 2BCe O TCACR |
2. FURWEl AR I SIS A |

fRfesfer am Toa @mibee T2 e a2

(A) 125 2-97 T (B) 2 & 1-9F Feea]
(C) 1, 2-9F (ACF FiA (D) AFIE Fralcs Torere 26 77 |
119. FU®R

1. TfSE1 gMgaE 39 9Hal |
2. TUT-AREARITRRT TeHETE GH-9H g w9 |

MR e YRG! ST T g ?

(A) 1 31 2f SrA (B) 2 31 17 Sr=eA

(C) 1 IR 2 AT 3a7 (D) TET FTEAT ST
119. & :

1. TSa % g2 | =e offt 31
2. W % S Vel ol ST = o7 Sl = |
freferfiaa & & foruehT Igu= T ST Tkt 27

(A) U 1 U 2 I UAE B (B) o 2 I 1 I U9 B
(C) HUT 1 F9F 2 ¥ W ¢ (D) =g fafre frewd wva 78 2

120. If MAN = 182, then CAT =?
(A) 96 (B) 60
(C) 138 (D) 120
120. I MAN = 182 3%, (o3 CAT = ?
(A) 96 (B) 60
(C) 138 (D) 120
120. I MAN = 182 3%, ©(J CAT = ?
(A) 96 (B) 60
(C) 138 (D) 120
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120. Jf€ MAN = 182, CAT = ?
(A) 96 (B) 60
(C) 138 (D) 120
120. Ifc MAN = 182, @ CAT = ?
(A) 96 (B) 60
(C) 138 (D) 120
121. Identify the word with one pair of consecutive alphabets placed together.
(A) Perimeter (B) Rigorous
(C) Alphabet (D) Mariner
121. JAETR SRS GERF 4T QeI 2l *7Ch] Delle F9 |
(A) Perimeter (B) Rigorous
(C) Alphabet (D) Mariner
121. SFCEY (RAIES 9o G A=l = Bie e |
(A) Perimeter (B) Rigorous
(C) Alphabet (D) Mariner
121. TEEH 6 GEEE ST S 9HE EIR gl g
(A) Perimeter (B) Rigorous
(C) Alphabet (D) Mariner
121. 39 I8 FI YA, SO JUHTT & FHHANT 18R 1 U SISl Ush 919 W@ 741 2

(A) Perimeter (B) Rigorous

(C) Alphabet (D) Mariner
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122. Which of the following pairs has similar relationship as School : Books ?
(A) Field : Athletes (B) Office : Files

(C) Auditorium : Audience (D) Table : Legs

122. RS @01 @R RWER : For’ 7= wa e 7T Sive ?
(A) €T 7] (B) TR : Fiee

(C) (2193 @ CuITel (D) % : 47T (CoR)

122. TIHA & (ST 72> ‘R : 33°-97 Weel 2
(A) T : Froifm (B) W& : A7

(C) (2193 @ CeITel (D) O« o

122. TEEN o SRET HEETe : faeeer’ aEfe q9= g 87
(A) WHIUR : T STERERITGR (B) HEEf : HIEABR
(C) &A1 : AIUTHR (D) STRIT : ATFIHR

122. f=fafied # 9 forg SISt &1 999 whd : fha@ o Ha9 o 99 27
(A) #eM : e (B) FHIe™ : HEd
(C) TUTER : g3feh (o) (D) B : W

123. Insert appropriate addition/subtraction signs to get a correct equation in the

following :

5900 630 450 21 =98
(A) -5 = *t (B)+’_7_
(C) _7+>_ (D)+’_>+
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123. 590 630 450 21 = 989 &3 A AN ~A¢31 TS @l /e oz e 3 |
(A) -, =, T (B)+’_7_
(C) -, t, - (D)+7_>+

123. 590 63 0 450 21 = 98-9 &6 A I ¢7ice Toge @l / Rl oz Afeica v |
A) = =, B) +, -, -
© -, +, - D) +, -, +
123. IR THFATZE! T ARSAE SSTeHE /e 1 faat s
500 630 450 21 =98
(A) -, -, B +,-, -

(C) -, t, = (D)+7_>+

123. 590 630 450 21 = 98 H Hel HHIeHUT UTH i & oI 3fua S /=2 & fog sret |
(A) _7_7+ (B)+’_’_

(C)_7+7_ (D)+’_7+

124. Statements :

No women teacher can play.
Some women teachers are athletes.

Conclusions :

1. Male athletes can play.

2. Some athletes can play.

Select the correct option.

(A) Only conclusion 1 follows
(B) Only conclusion 2 follows
(C) Either conclusion 1 or conclusion 2 follows

(D) Neither conclusion 1 nor conclusion 2 follows
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124. e :
@I Prsfiaica (e @I |

forgal Mrsfial ¢4eea |
ars

1. [P (XECAC Cferd [T |
2. PRI CRIAC (AT MM |

A RFECH! - 5 |

A) &9 P 19 Toars 273 #(1fF |

(B) &< g 2@ Tore 2°3 419 |

(C) Pram 1 =i=™1 23 | @Ien «brs Toiars 3737 #11f |
(D) Praig 1 A1 27 (PSS T9a® 2'7 @RI |

124. Jfe :

(I PERRIQT (XETCe AT =1 |
fog PEsRIal Groifm |
s
1. 7[F GIUfwEl (e AIeEH |
2. Tog Fufim (¥@1ce “I1Ca |
AT RIFeh F+I-Toe e |
(A) BEE FE 1 PR T
(B) BN Prarg 2 SFPEe Fed
(C) = @ 1 41 Prais 2 SepHe e
(D) Pramg 1 @k Prarg 2 Te2 SepEd w7
124. fogfIeR
e e BRIMRERT Tt g
TP fEsta BRI e sremerm |
EIELIEET
1. 2 T SEARITSRT Tt g/ |
2. WEH T TERAFITERT T /= |
e ot |’ |
(A) 1 STERET JTsTE
(B) 2 STE&RrETe AT
(C) 1 TaT 2 e WIHSITeTa
(D) 1 TS 2 A HIHSTYTE AT
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124. =94 .

s oft uleen e T8 T gend |

F9 Afgen e Aehie 2)
et

1. T&Y Uuelic W @ehd 2|
2. IS Uuclie Tat wehd £

Tt foehed |

(A) whact frepd 1 fsherar 2
(B) haa fehd 2 feperar @

(C) 13 2H Y HE oft ush Frewd Frererar 2
(D) 1 3R 2 8@ =g oft freshd Tt frepetan @

GET IT ON
Google Play

125. What would replace ??’ in the following grid?

C6 | F8 [ 110
M5 | ?? | S9
R7 | U9 |X11

(A) 06

(C) R7

125. 2ve Awe ‘??’7 Izw 5 9392

C6 | F8 | 110
M5 | ?? | S9
R7 | U9 |X11
(A) 06
(C) R7
/2 /Paper-11/ A

89

(B) P7

(D) Q6

(B) P7

(D) Q6
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125. J @@ awe Aw-9 2?7’ & AfSom 391 TE 2

C6 | F8 | 110

M5 | ?? | S9

R7 | U9 |X11
(A) O6 (B) P7
(€) R7 (D) Q6

125. TEEM fRE 2P e "l gE?

Co6 | F8 | 110

M5 | ?? | S9

R7 | U9 |X11
(A) 06 (B) P7
(©) R7 (D) Q6

125. feu U firg # 2?6 e = Am?

Co | F8 | 110

M5 | ?? | S9

R7 | U9 | X11
(A) 06 (B) P7
(©) R7 (D) Q6
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126. Mark the synonym of ‘expose’.
(A) Uncover
(B) Cover up
(C) Arrest
(D) Distinguish

127. Give one-word substitution for ‘a ruler with absolute power over a region’.
(A) Prime Minister
(B) Chief Minister
(C) Traitor
(D) Dictator

128. Fill in the best option in the blank :

My mother is the inspiration in my life.
(A) bigger
(B) big

(C) biggestest
(D) biggest

129. Which of the following means to retire, usually from sports?
(A) Cast a ring
(B) Hang up the boots
(C) Fist of fury
(D) Up the beanstalk

130. What will be the correct active voice of the following sentence?
“The sound can be heard by me.”
(A) The sound can hear me.
(B) I can hear the sound.
(C) The sound can be hear me.
(D) T can be heard by the sound.
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131. What is the antonym of ‘exterior™?
(A) Posterior
(B) Interior
(C) Superior

(D) Inferior

132. Find the best preposition :
The helicopter is flying __ the village.
(A) above
(B) around
(C) upon
(D) on

133. Identify the incorrectly spelt word.
(A) Basic
(B) Winter
(C) Recsue
(D) Micro

134. Choose the correct pronoun :
Raghav’s mother asked __ to clean the room.
(A) he
(B) his
(C) him
(D) it

135. Identify the subject in the following sentence :
“The box is green in colour.”
(A) The
(B) Box
(C) Green
(D) Colour
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